DTKO.

MIDDLEWEIGHT"

THERMALWEIGHT"
JR.MIDDLEWEIGHT®"

B R

User’s Manual - Installation, Operations, Maintenance and Parts Listing

DOCK DOOR

This manual applies to MiddleWeight, ThermalWeight, and Jr.MiddleWeight Dock Doors
manufactured beginning January 2006.

DO NOT install, operate or service this product unless you have read and understand the safety
practices, warnings, installation and operation instructions contained in this manual. Failure to do so
could result in death or serious injury.

© 2007 4Front Engineered Solutions, Inc

15-00017 R3 02/07 MW, TW, JrMW



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TABLE OF CONTENTS

LIMITED WARRANTY 1

OWNER’S RESPONSIBILITIES 2
TOOLS & MATERIALS 3
Recommended Anchor System for Hollow Block 3
SAFETY 4
Safety Signal Words 4
Safety Practices .4
SITE PREPARATION 6
Door Opening 6
Track Mounting Surface .8
TRACK ANCHORING APPROVED METHODS 10
Structure 10
TRACK INSTALLATION 12
Lower Track Installation 12
Upper Track Installaton 14
Straight Vertical Track Installaton 16
Tilt T1 Track Installaon 18
Tilt T2 Track Installaon 22
Roof Pitch Track Installaton 26
High-Lift Track Installaton 28
Center Spring Pad Installaton 30
PANEL INSTALLATION 32
Component Identification 32
Plunger Description 33
Component Assembly - Overview 34
Component Assembly - Bottom Panel 36
Component Assembly - Second and Third Panels 38
Component Assembly - Fourth and Higher Panels 40
Component Assembly - Top Panel 42
Panel Stacking 44
Cable Attachment 45
Handle Installation 46
Slide Lock Installation 47
Lintel Seal Installation 47
Decals & Placard Installation 48

Page i © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS
TABLE OF CONTENTS (continued)

SPRING/SHAFT INSTALLATION 52
Component Identification 52
Single Spring/Single Shaft Assembly 52
Double Spring/Single Shaft Assembly 54
Double Spring/Split Shaft Assembly 56
WINDING SPRINGS 58
Secure Door 58
Install Cables 58
Wind Springs 58
DOOR OPERATION 62
Resetting Impacted Panels 62
AVAILABLE OPTIONS 63
PREVENTATIVE MAINTENANCE 64
TROUBLE SHOOTING 65
PARTS LISTING 66

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page iii



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

BLANK PAGE

Page iv © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



) TKO,

User’s Manual DOCK DOORS

LIMITED WARRANTY

TKO DOCK DOORS warrants that this DOCK DOOR will be free from defects in material and workmanship under normal use for a period of ONE (1) year from the date

of initial shipment by TKO DOCK DOORS, provided that the owner maintains and operates the DOCK DOOR in accordance with this Owner’s Manual.

EXTENDED PANEL LIMITED WARRANTY

MIDDLEWEIGHT: Door will remain operational after resetting from impact under normal use, service and maintenance for ONE (1) year (excluding any window portion

thereof) from date of shipment. Does not cover punctures, cracks or slices in panel(s). UHMW track is standard. Optional Super Panel: TWO (2) year performance
limited warranty from date of shipment.
THERMALWEIGHT: Door will remain operational after resetting from impact under normal use, service and maintenance for ONE (1) year (excluding any window portion
thereof) from date of shipment. Does not cover punctures, cracks or slices in panel(s). UHMW track is standard. Optional Super Panel: TWO (2) year performance
limited warranty from date of shipment.
Jr. MIDDLEWEIGHT: Door will remain operational after resetting from impact under normal use, service and maintenance for SIX (6) months (excluding any window
portion thereof) from date of shipment. Does not cover punctures, cracks or slices in panel(s). UHMW track is standard. Optional Super Panel: TWO (2) year performance
limited warranty from date of shipment.

EXTENDED TRACK LIMITED WARRANTY

TKO DOCK DOORS warrants its UHMW track for FIVE (5) years from date of purchase. This is for the UHMW track portion only. Cuts, gouges, and abrasions are not
considered warrantable conditions.

In the event that this DOCK DOOR proves defective in material or workmanship within the applicable limited warranty period, TKO DOCK DOORS will, at its option:

1.  Replace the DOCK DOOR, or the defective portion of either, without charge to the owner; or.

2. Alter or repair the DOCK DOOR on site or elsewhere, without charge to the owner.

The limited warranty stated in the preceding paragraph IS EXCLUSIVE AND IT IS IN LIEU OF ANY OTHER GUARANTEES AND WARRANTIES, EXPRESS OR IMPLIED.
The limited warranty does not cover any failure caused by improper installation, abuse, negligence, or failure to maintain and adjust the DOCK DOOR properly. This limited
warranty does not include normal wear, modifications, and damage beyond the manufacture’s control, replacement labor or implied cycle life of counter balance systems
(cables, spring assembly, drums, shaft, cones, shaft bearings or center bearing bracket). Parts requiring replacement due to damage resulting from abuse or improper
operation are not covered by this warranty. TKO DOCK DOORS disclaims any responsibility or liability for any loss or damage (including, without limitation, direct, indirect
or consequential damages, or lost profits or production time) that results from the use of unauthorized replacement parts or modification of the DOCK DOOR. TKO DOCK
DOORS sole obligation will regard to a DOCK DOOR that proves to be defective in material or workmanship shall be as set forth in its standard warranty above (i.e., TKO
DOCK DOORS will, at its option, repair or replace the DOCK DOOR or portion thereof, with charge to the purchaser.).

This limited warranty does not cover any failure caused by improper installation, abuse, negligence, or failure to properly maintain and adjust the DOCK DOOR. This limited
warranty will be void or of no effect if the original purchaser does not notify TKO DOCK DOORS warranty department within NINETY (90) days after the product defect is
discovered. Parts requiring replacement due to damage resulting from abuse or improper operation are not covered by this warranty. TKO DOCK DOORS disclaims any
responsibility or liability for any loss or damage that results from the use of unauthorized replacement parts or modifications of the DOCK DOOR.

THERE ARE NO WARRANTIES, EXPRESS OR IMPLIED, WHICH EXTEND BEYOND THE DESCRIPTION ON THE FACE HEREOF, AND THERE IS NO WARRANTY
OF MERCHANTABILITY OR OF FITNESS FOR A PARTICULAR PURPOSE. TKO DOCK DOORS warranties extend only to the DOCK DOOR itself.

TKO DOCK DOORS DISCLAIMS all warranties, express or implied, responsibility or liability for loss or damage of any kind associated with the installation or
maintenance of the DOCK DOOR, including any liability for premature product wear, product failure, property damage or bodily injury arising from improper

installation or maintenance of the DOCK DOOR.

For questions regarding this warranty, services, or parts contact: TKO Customer Service at 1-800-575-3366.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 1



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

OWNER’S RESPONSIBILITIES

THE OWNER’S RESPONSIBILITIES INCLUDE THE FOLLOWING:

® The owners should recognize the inherent danger of the interface between the dock and transport
vehicle. The owner should, therefore, train and instruct operators in the safe use of the TKO Dock Door
as well as all dock equipment devices.

® Nameplates, cautions, instructions and posted warnings shall not be obscured from the view of operating
or maintenance personnel for whom such warnings are intended.

® Manufacturer’s recommended periodic maintenance and inspection (procedures in effect at date of
shipment) shall be followed, and written records of the performance of these procedures should be kept.

® |oading dock doors that are structurally damaged or have experienced failure shall be removed from
service, inspected by the manufacturer’s authorized representative and repaired as needed before being
placed back in service.

® The owner shall see that all nameplates, caution and instruction markings or labels are in place and
legible and that the appropriate operating and maintenance manuals are provided to users.

® Modifications or alterations of loading dock doors shall be made ONLY with the written permission of the
original manufacturer.

® When industrial trucks are driven on and off transport vehicles during the loading and unloading
operation, the brakes on the transport vehicle shall be applied and wheel chocks or positive restraints
that provide the equivalent protection of wheel chocks engaged.

DO NOT install, operate or service this product unless you have read and understand the safety
practices, warnings, installation and operation instructions contained in this manual. Failure to do so
could result in death or serious injury.

Page 2 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



) TKO,

User’s Manual DOCK DOORS

TOOLS & MATERIALS

THE FOLLOWING TOOLS & MATERIALS ARE NECESSARY FOR PROPER INSTALLATION OF ANY TKO
DOOR(S) AND ARE NOT PROVIDED BY TKO:

® Two Spring Winding Bars, approximately 24” (minimum) long for winding springs.
- 1/2” diameter bars for 2-5/8” diameter springs.
- 5/8” diameter bars for 3-3/4” and 6” diameter springs.

® Tools to mount track to wall using any of the recommend track anchoring methods:
- Hammer Drill or Impact Wrench.

® Tools to mount track to wall using any of the alternate track anchoring methods:
- Hammer Drill or Impact Wrench.
- Welder with welding rods. Include grinder if door to be removed is welded to jambs.

® Aerial equipment: Ladders, scaffolding, scissors lift or boom lift.
® Sawhorses — for assembling sections.

® Hand tools: socket wrench set: 7/16”, 1/2”, 9/16”, 4’ long level, bar clamps or C-clamps, locking pliers/
vice grips, hammer, screwdrivers, and tape measure (contractor grade).

® [Lubricants: Spray-on lithium grease (or food grade equivalent) for lubing Plunger Springs. Chain lube or
motor oil for lubing Torsion/Counterbalance Springs.

® Steel angle (minimum 12 gauge) for Backhangs and Sway Braces. Size will vary with different
applications.

® Spring Mounting Pad(s). MUST BE structurally sound to support weight of Spring(s) and the torque put
on them.

TKO Doors DOES NOT supply Backhang Material, Spring Mounting Pads or
Wall Mounting Hardware.

RECOMMENDED ANCHOR SYSTEM FOR HOLLOW BLOCK WALL

TKO recommends the following anchor system components manufactured by Powers-Rawl:

+  3/8” x 1-3/4” Wedge Bolt Anchor (#07220) with 3/8” Block Plug (#07191). Anchor holes must be made by
using a SDS-PLUS Wedge Bit (#01316) or HD Straight Shank Bit (#01380).

e 3/8” x 1-1/2” Hollow Set Drop In Anchor (#9340) with 3/8-16 machine bolt. Anchor holes must be made by
using an ANSI drill bit size 5/8”.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 3



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SAFETY

SAFETY SIGNAL WORDS

You may find safety signal words such as DANGER, WARNING, or CAUTION throughout this owner’s manual.
Their use is explained below.

This is the safety alert symbol. It is used to alert you to potential personal injury hazards. Obey
all safety messages that follow this symbol to avoid possible death or injury.

A DANGER

Indicates an imminently hazardous situation which if not avoided, will result in death or serious injury.

Indicates a potentially hazardous situation which, if not avoided, could result in death or serious injury.

A CAUTION

Indicates a potentially hazardous situation which, if not avoided, could result in minor or moderate injury.

CAUTION

Caution used without the safety alert symbol indicates a potentially hazardous situation which, if not
avoided, could result in property damage.

SAFETY PRACTICES

Read and follow these Safety Practices before installing, operating or servicing the door. Failure to
follow the Safety Practices could result in death or serious injury.

If you do not understand the instructions, ask your supervisor to explain them to you, or call TKO at 1-800-575-
3366, or ask qualified TKO door technician to assist.
Installation, Maintenance and Service

1. ONLY experienced and qualified door technicians should install or repair doors. Springs, cable brackets,
cables, drums, plungers, supports and their hardware are under high tension and can cause injuries if
not properly handled.

Use the proper type and capacity ladders, lifting equipment and safety straps or harnesses.

Safe and efficient installation requires a two-person crew.

Observe OSHA requirements for “LOCKOUT” or “TAGOUT” when performing work on doors.

Observe any/all overhead hazards such as electrical, air, process piping or HVAC ducting when working.

Move any dock leveler to the dock level storage position before using as a platform for ladders, lift trucks
or other equipment used in the installation of the door.

If door is operated with any type of motor or automatic system, pull rope MUST BE removed and a
safety reversing edge MUST BE installed.

Follow all local and state codes regarding attachement of back-hang to structural components of the
building.

o0k wbd

~

o

Page 4 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



) TKO,

User’s Manual DOCK DOORS

SAF ETY (continued)

SAF ETY P RACT I CES (continued)

Operation
1. Personnel using the dock doors MUST BE properly trained.

2. Operate door ONLY when properly adjusted and free of obstructions. Should the door become difficult to
operate or completely inoperative, immediately report to supervisor.

3. DO NOT stand or walk under moving door. Keep door in full view and free of obstructions while
operating.

4. DO NOT allow children to operate the door or controls.

5. DO NOT throw door up violently. Using excessive force to open the door may cause the door cables to
jump or door panels to disengage from tracks.

6. DO NOT close door onto obstructions. Obstructions in the opening may stop the doors movement and
cause the door cables to jump or door panels to disengage from tracks.

7. To avoid injury, keep hands free of door parts while operating. Panels and door parts may create pinch
points when in operation.

8. NEVER use damaged or malfunctioning dock door.

Resetting Impacted Panels

1. Inthe event of a panel KNOCK-OUT or track impact situation, step away from the door a
safe distance.

2. Inspect the door system BEFORE resetting panels.
- Plungers of the top panel MUST BE engaged in track.
- Cables MUST BE properly tensioned and seated in the grooves of the cable drums.
- Panels MUST BE sitting level with hardware intact.
- Tracks MUST BE square to jamb face and securely mounted.
If the above conditions are met, continue with resetting door (see steps 3-6 below). If any of these
conditions are not met, DO NOT use door. Stay clear of door and immediately report incident to
supervisor and have a trained door systems technician inspect and reset door.

3. Clear fork truck and/or all products from dock door area.

4. Grab manufacturer-supplied handle(s) and pull door panels back into tracks. If the spring plunger tips
are obstructed at any point of the return travel, the plunger rods may be manually retracted while pulling
panels back into tracks. Depending on conditions, this operation may require 2 people to safely reset the
door.

- NEVER try to open or close door until all panel plungers are reset back into track
and door has been inspected.
- NEVER climb under impacted panels to reset door.

5. Check panels, track, hardware and fasteners for any damage, looseness, misalignment, and verify track
spacing BEFORE operating door.

6. After panels have been engaged back into the tracks, carefully cycle the door to its fully open and closed
position several times making sure operation is smooth throughout its entire travel cycle.

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
the installation instructions on pages 20 to 29. If the tracks are not firmly stabilized with the Spreader
Bars, the Tracks may spread and allow the door to fall. Failure to follow these instructions could result
in death or serious injury.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 5



@TKO TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SITE PREPARATION

Before installing the door, read and follow the Safety Practices on pages 4 and 5. Failure to follow the
Safety Practices could result in death or serious injury.

DOOR OPENING

1.

For the TKO Knock-out Dock Door system to function properly, the door opening MUST BE ‘true’,
‘square’, ‘plumb’ and ‘flush’. Any compromise of the door opening characteristics may affect the function
and performance of the door. If jamb repair, replacement or adjustment is required, it is critical that the
original door opening dimensions are maintained as listed in the original door specification sheet.

Measure DOOR OPENING WIDTH (DOW). The finished DOW MUST match the designed TRACK
SPACING dimension as shown on the third panel. The door panels will not easily break away and reset
properly when impacted, or the door panels may fall out of the tracks if the track spacing is not kept to
these exact specifications. Measure width at floor, mid jamb, and header to identify and correct any width
variations.

Measure DOOR OPENING HEIGHT (DOH). Verify finished DOH matches the door height listed on the
door spec sheet. Stacked door panels are designed for additional panel height above header for proper
sealing. If the finished DOH exceeds the specified door height more than (3"), contact TKO Doors for
assistance.

Check jambs with a level to ensure the jambs are square to door opening. Any compromise will affect
the door panel’s ability to properly seal against the tracks.

Check jambs with a level to ensure the jambs are plumb and straight. The tracks MUST BE installed
level while maintaining the specified track spacing. If the jambs are not level and straight, a portion of the
jamb may be exposed (in relation to the track), restricting the panels to properly knock-out.

Inspect jamb walls for any obstructions. Ensure that nothing will impede the door’s outward movement
when impacted. Any sharp edges MUST BE eliminated to prevent possible seal damage as panels’
swing into the opening when impacted.

Contact TKO Doors for assistance at 1-800-575-3366.

Page 6 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



¢7)TKO.

User’s Manual DOCK DOORS

SITE PRE PARATION (continued)

DOOR OPENING

CENTER BRA. ANCHOR PAD
WOUNTHG AREAS
[HHEIEE'IIB'H\]

= A 4

CENTER
LINE ¥

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 7



@TKQ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SITE PREPARATION (coniinueq)

TRACK MOUNTING SURFACE

1.

Measure available TRACK MOUNTING HEIGHT (TMH). Verify that the required TMH will fit in the
available space. See job specific documents shipped with your order. If the required TMH exceeded
what is available, contact TKO Doors for assistance.

Check door specification sheet for track mounting style and track print for TRACK MOUNTING WIDTH
(TMW). Verify that the width of the mounting surface on jamb is equal or greater than the mounting width
of the track.

Check TRACK MOUNTING DEPTH (TMD) for any obstructions such as a bollard or curb that would
interfere with mounting the track to the jamb. Verify track depth on track print for track dimension. If track
depth exceeds available space, contact TKO Doors for assistance.

Make sure all track-mounting surfaces, header beam and center bearing bracket pads are flush in
relation to one another. The tracks, header seal, and center bearing bracket are designed to be installed
on the same plane. All mounting surfaces MUST BE smooth and free of any weld beads or bolt heads
etc.

Check available DEPTH INTO BUILDING (WTC) and verify that the upper track assembly will fit within
the given space. Refer to the track print for required track depth.

Check for potential obstructions that may impede the door’s normal upward and downward travel such
as an electrical box, sprinkler head, pipe etc. No obstruction may extend beyond the surface plane of the
track-mounting surface. All obstructions MUST BE moved or eliminated.

Check that the floor mounting area is level from right to left side within 1/4". Be prepared to level or shim
under one side of track if necessary.

Page 8 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



DTKO

User’s Manual DOCK DOORS

SITE PRE PARATION (continued)

TRACK MOUNTING SURFACE

CENTER BRE. ANCHOR PAD N ¥
WOINTHG AREAS

[unszza'ugmull

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 9



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK ANCHORING APPROVED METHODS
STRUCTURE

1. All track anchoring, including plug welding should be in the bottom two anchor holes of the track and
then at 18 inch intervals. The alternate method of fillet welding requires 1-1/2 inch long welds to be
placed every 18 inches on both sides of the track. Additional welds need to be place 1 inch above the
floor and 1 inch below the header.

CAUTION

The Alternate Track Anchoring method of welding requires the tracks to be positioned £ 1/4”within
the TRACK SPACING dimension (engraved on the door mounted Safety Decal) at the time the welds
are performed. If the tracks are not positioned correctly, removal of the welds to relocate tracks may
destroy the tracks.

2. Anchors MUST BE centered in the slotted track holes to provide the ability to adjust in or out if
necessary. Shims may be required between the track and wall surface to ensure the TRACK SPACING
dimension (engraved on the door mounted Safety Decal) is maintained and that the tracks are anchored
securely.

3. If mounting the track to wood it is not recommended that the tracks be mounted solely to a single 2” x 47,
2" x 67, 2” x etc. wood face jamb. Anchor through wood jamb and structural member using a minimum
3/8” x 3” anchor backed with a 3/8” washer. Position anchors as listed in item 1 above.

4. If mounting the track to solid concrete, anchor tracks using a minimum 3/8” x 2” concrete anchor backed
with a 3/8” washer. Position anchors as listed in item 1 above.

5. If mounting the track to insulated panels the jamb MUST BE capped with steel and structurally secure for
welding or anchoring tracks (see method for mounting to steel). A sound structure MUST BE provided for
upper tracks as well. Position welds or anchors as listed in item 1 above.

6. If mounting to hollow block, it is important to use 3/8” expansion type anchors specifically designed for
this use.

7. If mounting the track to insulated panels the jamb MUST BE capped with steel and structurally secure for
welding or anchoring tracks (see method for mounting to steel). A sound structure MUST BE provided for
upper tracks as well. Position welds or anchors as listed in item 1 above.

RECOMMENDED ANCHOR SYSTEM FOR HOLLOW BLOCK WALL

TKO recommends the following anchor system components manufactured by Powers-Rawl:

+ 3/8” x 1-3/4” Wedge Bolt Anchor (#07220) with 3/8” Block Plug (#07191). Anchor holes must be made by
using a SDS-PLUS Wedge Bit (#01316) or HD Straight Shank Bit (#01380).

* 3/8” x 1-1/2” Hollow Set Drop In Anchor (#9340) with 3/8-16 machine bolt. Anchor holes must be made by
using an ANSI drill bit size 5/8”.

page 10 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



User’s Manual

) TKO,

DOCK DOORS

TRACK ANCHORING APPROVED METHODS (continueq)

NOTE:

aLL METHODS OF TRACK ANCHORING REQUIRE THAT THE TRACK

SPACING DIMEMSION TOLERAMCES OF £ 1,/4" NOT TO BE EXCEEDED.
RECOMMENDED

MOURTING TRACK

MOUNTING TRACK

MOUNTING TRACK MAUMTING

ALTERMATE

MOUNTING TRAGK WMAUNTNG TRACK

oL ow TD FILLEG BLOCK  TO WOOD BACKED — TRACK TO To STRUCTURAL 1O STRUCTURAL
oOLLOW &R SOLD CONGRETE ¥ 4 saLD SRUCTURAL STEEL WITH FILLET  STEEL WITH PLUG
ALOCK MATERIAL STEEL WELDS WELDS

38 =
WASHER

WASHER:
MIMILUM

3/8
WASHER

38 & 1-1727

PLUG ‘%
EVERY -

. . 3/8 w2 SELF
5,/8" w 1-1/2 alEEVE ANCHOR * TAPPING
HOLLOW SET ANCHOR EVERY 18" SCREWS 1/8" FLLET  ALTERHATE TRACK
DRAP-IN EVERY 187 EVERY 18 1-1/2" LONG  MOUNTING METHODS
ANCHOR WITH . TYPE OF ANCHOR EVERY 187 REQUIRE THAT THE TRACH
3/8-16 BOLT USED _WILL BE SUITABLE BE POSITIONED WITHIN TH
EVERY 18 FOR TYPE OF SOLID

BACKING BEHIND WOOD.

TRACK SPACING
TOLERANCES PRIQR TQ
WELDING.

A WARNING

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

STANDARD MOUNT

DOOR CPENING WDTH
Wall Defermation
Exaggerated for Clarity |

TRACK SPACING + 1/4" — = !

 —

STANDARD
MOUNT

- A (JAME)
DETAL A TRACK SPACING + 1/4" ——]
SHIM AS REQUIRED ~ (OUTER TRACK} SHIM
JAMB FACE JAMB FACE
SHIM AS REQUIRED WD pras_ REVERSE MOUNT WELD BEAD SHIM
DCOR OPENING WIDTH ]
Wall Deformation
REVERSE Exaggerated for Clarity ]
MOUNT TRACK SPACING £ 1/4° — -
< (JAWEB)
DETAIL B [=——— TRACK SPACING + 1/4" ——=
BACK TRACK {OUTER TRACK)
WELD BEAD BACK TRACK
WELD BFAD

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 11



@TKO' TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION

LOWER TRACK INSTALLATION

1.

Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates
the assembly of the track component parts.

Inspect track pieces and line up so that they match job specific track drawing that was supplied with
door. If track drawing is missing, call a TKO Doors customer service representative for assistance.

Initially, clamp or mount lower tracks to wall loosely, so they may be moved to keep door centered and
track at proper spacing. Ideally, clamp both track sides to wall and verify spacing before anchoring. If
this is not possible or desired, anchors and bolts should be inserted in middle of mounting holes so that
track can be moved in or out if necessary. If welding, clamp track down or spot weld until assured that
track has proper spacing. Tops of tracks MUST BE level with one another to within 1/4”, or door will not
operate smoothly. Shimming of tracks off the floor may be necessary if floor pad is not level.

Mount tracks to wall with one of the Recommended Anchoring Methods illustrated below. Ensure that
track is level/straight and plumb with jamb. Check that track is plumb and level several times during
mounting. If jamb condition DOES NOT permit track to be plumb, it MUST at least be level and centered
in opening for door to run smoothly. Shims may be required between the track and wall surface to
ensure the TRACK SPACING dimension (engraved on the door mounted Safety Decal) is maintained
and that the tracks are anchored securely.

MOTE: ALL METHODS OF TRACK ANCHORING REQUIRE THAT THE TRACK
SPACING DIMENSION TOLERANCES OF £ 1,/4" NOT TO BE EXCEEDED.

RECOMMEMNDED ALTERMNATE
MDUQ ri;G_gTEAEK MOUHTING TRACK MOUNTING TRACK WAUNTIHEG MOUNTING TRACK — MOUNTING TRACK
HOLLOW TO FILLED BLOCK 70 WOOD BACKED TRACK TO TO STRUCTURAL  TO STRUCTURAL
COMCRETE OF S0UD COMERETE B A SOLID SRUCTURAL STEEL WITH FILLET STEEL WITH PLUG
MATERIAL STEEL WELDS

38" 378"

WASHER WASHER 5 E';ESY"‘FE"P
MIMIMUM EE'EF” ¥ =12 C
3/8" w2
S"fLEEL_,.E ANCHOR » TAPPING
HOLLOYW SET ANCHOR EVERY 18" SCREWS . 'Ij"'E"I FILLET ALTERNATE TRACK
BRAP-—IN EVERY 18" EVERY 18 1-1/2" LONG  MOUNTING METHODS
AMCHOR WITH *  TYPE OF ANCHOR EVERY 18" REQUIRE THAT THE TRACK
3/8—16 BOLT USED WILL BE SUITABLE BE POSITIQNED WITHIN THE
EVERY 18 FOR TYPE OF SOLID TRACK SPACING

BACKING BEHIND ‘WoG0, TOLERAMCES PRIOR TO

WELDING.

Verify TRACK SPACING: Measure track width starting 3” from floor and every 3’ on up. Track MUST BE
kept level/straight and at proper spacing. TRACK SPACING tolerance is * 1/4"

Solidify attachments to wall: Once TRACK SPACING is correct, be certain to tighten down all anchors/
bolts and solidify all welds that may have been left loose to allow for moving of track.

Proceed to upper track installation: Once lower tracks are securely mounted and spaced, prepare to
install upper tracks.

Page 12 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK I NSTALLATIO N (continued)

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

LOWER TRACK INSTALLATION

STANDARD MOUNT

DOOR CPENING WDTH ———=
Wall Defarmation
Exaggerated for Clarity

TRACK SPACING + 1/4" — =]

STANDARD
MOUNT

A (JAMB)
DETAL A f=——— TRACK SPACING + 1/4" ——]
SHIM AS REQUIRED (OUTER TRACK} SHIM

WELD BEAD

JAMB FACE JAMB FACE
SHIM AS REQUIRED WD BEAD REVERSE MOUNT SHIM

BCOR DPENING WIDTH

Wall Deformation

Exaggerated for Clarity

TRACK SPACING & 1/4" ——
{JAMB)

[=——— TRACK SPACING # 1/4° ——=|

{OUTER TRACK)

REVERSE
MOUNT

DETAL B
BACK TRACK
WELD BEAD

BACK TRACK
WELD BEAD
STANDARD MOUNTING
SHOWN
_—
1]
L")
"]
"1
| =]
"]
1 wla
18" to 24"
] ™"
0 4
48 18" Fry

ANCHOR BOLT

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 13



4@010::5:00“ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK I NSTALLATI 0 N (continued)

UPPER TRACK INSTALLATION

The location of the INSTALLATION INSTRUCTIONS for the various TRACK STYLES are listed in the table
below.

TRACK STYLE INSTALLATION INSTRUCTIONS
Straight Vertical Track Installation Pages 16 to 17
Tilt T1 Track Installaton Pages 18 to 21
Tilt T2 Track Installaton Pages 22 to 25
Roof Pitch Track Installaton Pages 26 to 27
High-Lift Track Installaton ~~ Pages 281t029
Center Spring Pad Installaton " Pages 30to31

LPPER TRACYC

DOOR HEADER LOWER TRACKS

o |
.,ELTm_ Huz/1zp HSAZF A
SERIES

]
H
SERES
[HR = &0" AD W]

Page 14 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK I NSTALLATIO N (continued)

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
the installation instructions on pages 20 to 29. If the tracks are not firmly stabilized with the Spreader
Bars, the Tracks may spread and allow the door to fall. Failure to follow these instructions could result
in death or serious injury.

DOOR HEADER

LH
SERIES

[HR = 247, 36" OR 487

|
H12/12 P H3/12 P H

UPPER TRACKS _
LOWER TRACKS

| S |
XL1212P XL312P XLHL

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 15



@TKO' TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK I NSTALLATIO N (continued)

STRAIGHT VERTICAL TRACK INSTALLATION

1.

5.

7.

Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates

the assembly of the track component parts.

Check how track is assembled: The track will come assembled in one of three ways:

A. Lower tracks with extended steel.

B. Upper tracks with extended steel.

C. Upper and lower tracks have steel and plastic track same length.

Track splice bracket will hold upper and lower tracks together for any combination below.

Attach upper tracks to lowers:

A. If tracks have extra length of steel on the uppers or lower tracks, bolt protruding portion of either
lower or upper plastic track to the extra length of steel angle track on the oppositie track assembly
(track splice will have to be temporarily removed from lower tracks). Bolt plastic track through
steel track to the track splice with flat head, Phillips drive, 5/16-18 x 3” machine screws. Parts
should fit together to create a smooth transition.

B. If tracks have plastic and steel the same length, stack track on top of one another to create smooth,
level transition and splice together with track splice plate. Bolt plastic track through steel angle
track to the track splice with flat head, Phillips drive, 5/16-18 x 3” machine screws.

C. Tracks are factory attached to the steel angle with flat head, Phillips drive, 5/16-18 x 2-1/2”
machine screws. 3” machine screws are required when bolting through the track splice plated.

Mount bearing plate to wall with one of the Recommended Anchoring Methods illustrated below. Make

sure upper tracks are plumb, level, and straight with lower tracks. Shimming of the upper tracks/bearing

plate may be necessary to accomplish this.
MOTE: ALL METHODS QF UPPER TRARK AMND BEARING BRACKET AMNCHORING REQUIRE
THAT THE TRAQK SFACING DIMEMSION TOLERAMCES OF £ 1,4 NOT TQ BE EXCEEDED.
RECOMMENDED ALTERMATE
MOUKTING BRACKET MOUMTIRG BRACKET TO MOLHTIHG BRACKET WOLNTING BRACKET MOUNTING MOUNTING
EPHERETE BB AR R R TLG0ID MaRIAL O SRUCTURAL STERL ;;ﬁ{%gﬁ Eﬁﬁ%ﬁ
FILLET WELDS FLUG WELDS
WASHER
a8
WASHER n 38" 112" PLLIG
BN LI liﬁ"'m TePPING HELD
Dorow Gt 38 v Ercn SCREWS e
o WiTH AHCHOR «  TYPE OF AMNCHOR
e & T e

BACHING BEHIND WCDD.

Mount upper tracks securely to wall with one of the Recommended Anchoring Methods illustrated above.
Shimming may be required to ensure that the upper tracks are anchored securely and inline with the
lower tracks.

Repeat steps 4 and 5 for the other side of door opening. Position the tracks at the TRACK SPACING

dimension engraved on the Safety Decal that is attached to the third panel of each door. Anchor the
tracks securely using one of the Recommended Anchoring Methods.

Verify the TRACK SPACING dimension and properly torque (23 ft-Ib) the fasteners that attach brackets
to the track. Tighten the track anchors to the proper torque specified by the anchor manufacturer.

Page 16 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

TRACK I NSTALLATIO N (continued)

STRAIGHT VERTICAL TRACK INSTALLATION

SPRING,/SHAFT ASSY

Sy DRUM
RIGHT

{BLACK]

’/—UPPER TRACK.

BUMPER

DETAIL A
(STAMDARD MOUNT SHOMWM]

AR AR AR R AR AR R AR R A AR AR AR AR AR AR L AL R Rl LR

STaMDARD REVERSE
MOUMT MOUNT
:DHNI AS REQUIRED SHiW AS REQUIRED
(+/—V4 (+/=1/4)
TRACK I'" TRACK
SPJ%CING SPACING
(STRAIGHT TRACK) {STRAIGHT TRAGK)

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 17



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continueq)

TILT T1 TRACK INSTALLATION

1. Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates
the assembly of the track component parts.

2. Stack track on top of one another to create smooth, level transition and splice together with track splice
plate. Bolt plastic track through steel angle track to the track splice with flat head, Phillips drive,

5/16-18 x 3” machine screws. Tracks are factory attached to the steel angle with flat head, Phillips drive,
5/16-18 x 2-1/2” machine screws. Pieces MUST fit together to give a smooth transition. Any sharp
edges may cause plunger damage or cable failure. Track will angle away from wall at approximately a
5° angle, (Rise 12”, Run 1”).

3. Attach the Top Tilt Bracket within 12” to 24” from the highest point of the track. Do not apply full torque to
the fasteners at this time. The bracket may need to be adjusted to ensure proper track alignment. The
tracks need to be equally spaced from the wall surface and must maintain the correct TRACK SPACING
dimension (engraved on the door mounted Safety Decal).

4. Anchor the top Tilt Bracket to the building structure using one of the Recommended Anchoring Methods
illustrated below.

MOTE: ALL METHODS OF UPPER TRACK AMD BEARING BRACKET ANCHORING REGUIRE
THAT THE TRACK SFACING DIMEMSION TOLERANCES OF = 1/4° NOT TQ BE EXCEEDED.

RECOMMENDED ALTERMATE
TSR ouMmmean  MUILRET s s S, A,
COMERETE BLOEK SOLD SCRETE A GOLID WATERIAL Te SRUCTURAL STEEL STRUCTURAL STRUCTURAL
STEEL WITH ETEE
FIL| WELDS FLUG WELDS

38"
WASHER
387 % 1-1/2" PLUE
SELF WELn
MIM LI TAPPING
B T ks SCREWS 178"
/8% 2 /B FILLET
EEE%-"-’.LSH SEEE“'E ARCHER 1=1,/9" LohG
AHGHOR WITH ARCHOR &  TYPE OF AMCHOR
3/B—16 BOLT USER WLL BE SJITABLE
FOR TTPE OF SEUD

BACKING BEHIND WCOD.

5. Repeat steps 2 through 4 above for the other side of the door opening. Position the tracks at the
TRACK SPACING dimension engraved on the Serial Number tag that is attached to the third panel of
each door. The tracks need to be equally spaced from the wall surface and must maintain the correct
TRACK SPACING dimension.

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

6. Mount the Bottom Tilt Bracket 18” to 24” from the header. Mount the Intermediate Tilt Brackets every
24” to 36”. Verify the TRACK SPACING dimension and properly torque (23 ft-Ib) the fasteners that
attach brackets to the track. Tighten the track anchors to the proper torque specified by the anchor
manufacturer.

7. Attach C-channel to bearing plates to run from the backside of one bearing plate to the other. Attach

C-channel to top set of holes on bearing plate with 3/8—16 x 1” carriage bolts, flange nuts and flat
washers. Verify that track spacing is still correct and tracks are level.

Page 18 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK INSTALLATION (continued)

TILT T1 TRACK INSTALLATION

4" +/-3" (TP

SEE C—CHANNEL ASSEMBLY
CRAWING

- 4

TRACE SPACING

T
BOTTOM TILT BRACKET

STAN DR REJERSE
MOUMT MOUMT

1 b

E ]
I | e ]

SPECING SRACING

[STRYGHT TROCK) [BTRHGHT TRACK)

A WARNING

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks

are anchored securely.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 19



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continueq)

TILT T1 TRACK INSTALLATION (continued)

8. Attach hardware to C-channel: Attach adjustable angle brackets to top and bottom of
C-channel in the center of the assembly with 3/8-16 x 1” carriage bolts and flange nuts and anchor onto
wall. These keep tracks from swaying side to side. Mount center spring support to C-channel with
3/8-16 x 1” carriage bolts and flange nuts. Location may vary according to quantity and length of springs.

9. Install Safety Spreader Bar assembly: Mount spreader bar brackets to straight track with 5/16-18 x 3/4”
carriage bolts and flange nuts. Brackets need to be attached 12” to 24” above header and 12” to 24”
below top of tracks. Mount two (2) spreader bars horizontally from brackets and attach to brackets with
5/16-18 x 3/4” carriage bolts and flange nuts. Repeat for both sides.

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
the installation instructions. If the tracks are not firmly stabilized with the Spreader Bars, the Tracks
may spread and allow the door to fall. Failure to follow these instructions could result in death or
serious injury.

10. Install two (2) Safety Cables: Bolt each safety cable spool end to the top horizontal spreader bar
24” + 3” from each end Attach cable grip device to bottom spreader bar 24” + 3” from each end. Feed
cable through the cable grip device and pull tight. Trim excess wire.

Page 20 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK I NSTALLATI 0 N (continued)

TILT T1 TRACK INSTALLATION

4" +/-3" (TP

SEE C—CHANNEL ASSEMBLY
CHAWING

HE
o

— BUMPER
1'.1!';' - .
|

SAFETT SPREAGER BAR

CAHLE GRIP

TRACE SPACING .
12" - :
T
BOTTOM TILT BRACEET
STAN ARG FEVERSE
MOLNT KOLINT

1

I+ =14 I+ =1/4]
BPALING BRALING

(STRAIGHT TRACK) (STRAGHT TRACK)

A WARNING

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
the installation instructions. If the tracks are not firmly stabilized with the Spreader Bars, the Tracks
may spread and allow the door to fall. Failure to follow these instructions could result in death or
serious injury.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 21



DTKO

DOCK DOORS TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors

User’s Manual

TRACK INSTALLATION (continueq)

TILT T2 TRACK INSTALLATION

1. Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates

the assembly of the track component parts.

2. Stack track on top of one another to create smooth, level transition and splice together with track splice
plate. Bolt plastic track through steel angle track to the track splice with flat head, Phillips drive,
5/16-18 x 3” machine screws. Tracks are factory attached to the steel angle with flat head, Phillips drive,
5/16-18 x 2-1/2” machine screws. Pieces MUST fit together to give a smooth transition. Any sharp
edges may cause plunger damage or cable failure. Track will angle away from wall at approximately a

5° angle, (Rise 12”, Run 1”).

3. Assemble the Bearing Plate to the Bearing Plate Mounting Bracket as illustrated below.

ITEM HO. |QTY_ |PART NO.
1 2 | 20-D0840

DESCRIFTION
BRG PLT-AF, UW, HLIT2
2 2 | 2000575 | BRG PLT MTG BRET-AF LW T2
3 12 | 10-00035 BOLT, CRG, /8- 16X1"
4 12 | 10-00006 MNUT, FLNG, 3/3-18

4. Attach the Bearing Plate Assembly shown above to the Bearing Plate Offset Bracket. Do not apply
full torque to the fasteners at this time. The bracket may need to be adjusted to ensure proper track
alignment. The tracks need to be equally spaced from the wall surface and must maintain the correct
TRACK SPACING dimension (engraved on the door mounted Safety Decal).

5. Anchor the Bearing Plate Assembly to the building structure using one of the Recommended Anchoring

Methods illustrated below.

MOTE: ALL METHODS OF UPPER TRACK AMD BEARING BRACKET ANCHORING REGUIRE
THAT THE TRACK SFACING DIMEMSION TOLERANCES OF = 1/4° NOT TQ BE EXCEEDED.

RECOMMEMDED

MOUKTING BRACKET
TQ GO0 HOLLDW
DOMERETE BLOCK

MOLHTING BRACKET
TO WODOD BACKED BY
A S0LIG KHATERIAL

MOUMTING BRASKET TO
FILLED BLDCH QR
S0UD ONCRETE

MOLIMTIMNG BRACKET
TQ SRUCTURAL STEEL

38"
WASHER
3./ aqa
WASHER WASHER 13 o 387 -1
SELF
WASHER
38" w11 27 e 2= AE x5 aaaly
HOLLOW SET L HHCHDA *+
BROP—IN SLEEVE
AHEHOR WITH AHEHER & TYPE OF AMCHOR
3/B-16 BOLT USED ‘WILL BE SUITABLE

FOR TYPE OF SRUD
BACKING BEHIND WCOD.

ALTERMATE
MOUNTING
Bgmgw% BRACKET T
STRUCTURAL STRUCTURAL
STEEL WITH STEEL 'WITH
FIL WELDS PLUG WELDS
PLUG
WELD
178" FILLET
1-1/8" LONG

Page 22 © 2007 4Front Engineered Solutions, Inc

15-00017 R3 02/07 MW, TW, JrMW



DTKO

User’s Manual DOCK DOORS

TRACK I NSTALLATI 0 N (continued)

TILT T2 TRACK INSTALLATION

SHMHNG

14,_ JT ey d
(.«"1!41 || —%tfml'é:rc}l-—

A WARNING

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks

are anchored securely.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 23



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continued)
TILT T2 TRACK INSTALLATION (continued)

6. Repeat steps 2 through 5 above for the other side of the door opening. Position the tracks at the
TRACK SPACING dimension engraved on the Serial Number tag that is attached to the third panel of
each door.

7. Mount the Bottom Tilt Bracket 18” to 24” from the header. Mount the Intermediate Tilt Brackets every
24” to 36”. Verify the TRACK SPACING dimension and properly torque (23 ft-Ib) the fasteners that
attach brackets to the track. Tighten the track anchors to the proper torque specified by the anchor
manufacturer.

8. Install Safety Spreader Bar assembly: Mount spreader bar brackets to straight track with 5/16-18 x 3/4”
carriage bolts and flange nuts. Brackets need to be attached 12” to 24” above header and 12” to 24”
below top of tracks. Mount two (2) spreader bars horizontally from brackets and attach to brackets with
5/16-18 x 3/4” carriage bolts and flange nuts. Repeat for both sides.

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
the installation instructions. If the tracks are not firmly stabilized with the Spreader Bars, the Tracks
may spread and allow the door to fall. Failure to follow these instructions could result in death or
serious injury.

9. Install two (2) Safety Cables: Bolt each safety cable spool end to the top horizontal spreader bar
24” + 3” from each end Attach cable grip device to bottom spreader bar 24” + 3” from each end. Feed
cable through the cable grip device and pull tight. Trim excess wire.

Page 24 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

TRACK I NSTALLATI 0 N (continued)

TILT T2 TRACK INSTALLATION (continued)

TILT T2 TRACK INSTALLATION

BN PLUE I H/T2 HEAFNG FLAE WM BRAOFRET-W T

e N

SPACING
(TR T

SF'FAGING

1 Eormmd JT || €170
—{ " "TRACK |—

A WARNING

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks

are anchored securely.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 25



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continueq)

ROOF PITCH TRACK INSTALLATION

1. Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates
the assembly of the track component parts.

2. ldentify upper supports: Identify a beam or structure to attach the end of the horizontal tracks. You will
need to run back-hangs from this structure to the ends of the horizontal tracks once they are up. DO
NOT use safety spreader angle for this purpose.

3. Attach upper tracks to lowers: Attach pieces with 5/16-18 x 3” machine screws and flange nuts. Pieces
MUST fit together to give a smooth transition. Any sharp edges may cause plunger damage or cable
failure. Low and Extralow headroom roof pitch tracks mount transition to radius assembly. Shimming
may be required to ensure that the upper tracks are anchored securely and inline with the lower tracks.

4. Mount bearing plate to wall with one of the Recommended Anchoring Methods illustrated below.

MOTE: ALL WETHODS OF UFPFER TRACK AMD BEARING BRACKET ANCHORING REQUIRE
THAT THE TRASK SFAGING DIMENSION TOLERAMCES OF + 1,4 NOT TO BE EXGEEDED.

RECOMMEMDED ALTERMATE
MOUKTING BRACKET MOUKTING BRACKET TO MOUNTING BRACKET WOMHTING HOUHTING
TO C—O0 HOLLDW FILLED BLOCE, QR TO WDDO BACKED BY Tgaégméﬁﬁanﬁ_hg‘:ﬁré_ BRASET TO BRACKET Td
CeHERETE BLOGK SOUD OHCRETE A SOLID MATERIAL STRUGTURAL STRU‘ETEHR-%
STEEL WITH STEE
FIL WELDS PLUG WELDS
3/8"
WASHER
3/8% % 1-1,72" LG
SELF WELD
MIF I L TAPFIHG
3/ u 1-1,/0 " e SCREWS "
/8 e 1/8" FILLET
HowLLow SET s(FEvE AHGHER * 12142 Lowg
AHCHOR WITH AHCHOR ® TYPE OF AMCHOR
3/6-18 BOLT USED WLL BE SUITABLE
FOR TTPE OF S0UD

BACKIMNG BEHIND w300,

5. Mount horizontal tracks: Horizontal tracks are factory attached to the radius. Using proper lifting
techniques, have helper hold up horizontal track assembly while mounting radius to vertical tracks.
Secure radius to vertical tracks with track splice angle. Attach with 5/16-18 x 3/4” carriage bolts and
flange nuts. Mount horizontal mounting angle to wall with chosen method. Tracks MUST BE level and at
proper spacing or door will not work correctly.

6. Repeat for the opposite side: Verify that the TRACK SPACING dimension (engraved on the door
mounted Safety Decal) is still correct.

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
installation instructions. If the tracks are not firmly stabilized with the Spreader Bars, the Tracks may
spread and allow the door to fall. Failure to follow these instructions could result in death or serious
injury.

Page 26 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK INSTALLATION (continueq)
ROOF PITCH TRACK INSTALLATION (continued)

7. Install spreader bar assembly: Attach spreader bar brackets 12” to 18” before radius, 12” to 18” from end
of horizontal track and 12” to 18” from the header. Mount brackets to track using 5/16-18 x 3/4” carriage
bolts and flange nuts. Attach a total of 3 spreader bars to the brackets using 5/16-18 x 3/4” carriage
bolts and flange nuts. Repeat for both sides. Spreader bars should run from one track side to the other
to keep track from separating. Center and bolt safety cable spool end to back horizontal spreader bar.
Attach cable grip device to bottom spreader bar at the header. Wrap cable over the middle spreader bar
and fasten with cable tie. Feed cable through the cable grip device and pull tight. Trim excess wire.

8. Attach back-hangs: Verify that tracks retain proper spacing. Move tracks to necessary width and tie into
structure or ceiling with 12 gauge minimum steel angle/back-hang. Bracing MUST keep tracks from
swaying. Attachment of back-hang material to the surronding structure must be in compliance with all
local and state building codes for the specific location.

ROOF PITCH TRACK INSTALLATION

BUNFER

SPREADER BAR d
CUT TO TRACK SPACKHD

CABLE SAFETY SHELD
CUT TO TRACK SPACHG

(+/-1/4) 3 ===
— TRAGK [=— WO
SPACING
BSTRAGHT TealE)

mi

2. - —t 2.

STNIMAN

e
SPACING
{SIONGHT TRAS)

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 27



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continueq)

HIGH-LIFT TRACK INSTALLATION

1. Locate the TRACK PRINT IDS (Installer Detail Sheet) contained in the Owner’s Parts Book. It illustrates
the assembly of the track component parts.

2. ldentify upper supports: Identify a beam or structure to attach the end of the horizontal tracks. You will
need to run back-hangs from this structure to the ends of the horizontal tracks once they are up. DO
NOT use safety spreader angle for this purpose.

3. Attach upper tracks to lowers: Attach pieces with 5/16-18 x 3/4” carriage bolts and flange nuts. Pieces
MUST fit together to give a smooth transition. Any sharp edges may cause plunger damage or cable
failure. (Low and Extralow headroom roof pitch tracks mount transition to radius assembly.) Shimming
may be required to ensure that the upper tracks are anchored securely and inline with the lower tracks.

4. Mount bearing plate to wall with one of the Recommended Anchoring Methods illustrated below.

MOTE: ALL METHODS OF UPFER TRACK AMD BEARING BRACKET ANCHORIMNG REGUIRE
THAT THE TRACK SPACING DIMENSION TOLERAWNCES OF £ 1,44 NOT TO BE EXCEEDED.

RECOMMEMDED ALTERMATE
OUITHE BMCET oG ST To MG SACEL s smaey e, oy,
DORCRETE BLOCK SOUD SHERETE A GOLID WATERIAL T2 SRUCTURAL STEEL STRUCTURAL SST%ETUNR-%
STEEL WITH
FILLET WELDS PLUG WELDS
WASHER
P
WASHER 3B % 1-1/2" PLUEG
WASHER SELF WELD
HER TAPPING
38" u 11,07 . e 1 w3 SCREWS "
/8% i o A 1,/8" FILLET
HOLLOW SET S EEVE ARCHOR 1-1,/2" LONG
AHCHOR &  TYPE OF AMCHOR
AHCHOR ¥ITH USED WILL BE SMITABLE
3/8-18 BOLT
FOR TYPE OF SCUG

BACKING BEHIND WCDD.

5. Mount horizontal tracks: Horizontal tracks are factory attached to the radius. Using proper lifting
techniques, have helper hold up horizontal track assembly while mounting radius to vertical tracks.
Secure radius to vertical tracks with track splice angle. Attach with 5/16-18 x 3/4” carriage bolts and
flange nuts. Mount horizontal mounting angle to wall with chosen method. Tracks MUST BE level and at
proper spacing or door will not work correctly.

6. Repeat for the opposite side: Verify that the TRACK SPACING dimension (engraved on the door
mounted Safety Decal) is still correct.

Failure to securely position and anchor door tracks per the TRACK SPACING dimension and tolerance
(engraved on the door mounted Safety Decal) may allow the tracks to become to wide and allow the
door to fallout of its tracks which could result in death or serious injury. Shims may be required
between the track and wall surface to ensure the TRACK SPACING is maintained and that the tracks
are anchored securely.

All TKO Dock Doors [except Straight Verticals (SV)] require Safety Spreader Bar cross bracing and
Safety Cable Assemblies to be installed in the area from the header to the top end of panel travel per
installation instructions. If the tracks are not firmly stabilized with the Spreader Bars, the Tracks may
spread and allow the door to fall. Failure to follow these instructions could result in death or serious
injury.

Page 28 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

TRACK INSTALLATION (continued)
HIGH-LIFT TRACK INSTALLATION (continued)

7. Install spreader bar assembly: Attach spreader bar brackets 12” to 18” before radius, 12” to 18” from end
of horizontal track and 12” to 18” from the header. Mount brackets to track using 1/4-20 x 3/4” carriage
bolts and flange nuts. Attach a total of 3 spreader bars to the brackets using 5/16-18 x 3/4” carriage
bolts and flange nuts. Repeat for both sides. Spreader bars should run from one track side to the other
to keep track from separating. Center and bolt safety cable spool end to back horizontal spreader bar.
Attach cable grip device to bottom spreader bar at the header. Wrap cable over the middle spreader bar
and fasten with cable tie. Feed cable through the cable grip device and pull tight. Trim excess wire.

8. Attach back-hangs: Verify that tracks retain proper spacing. Move tracks to necessary width and tie into
structure or ceiling with 12 gauge minimum steel angle/back-hang. Bracing MUST keep tracks from
swaying. Attachment of back-hang material to the surronding structure must be in compliance with all
local and state building codes for the specific location.

HIGH-LIFT TRACK INSTALLATION

127 — 18"

4" 4 /=3"

STANDAR D
HOUNT MOLINT
SHM )8 REQUIRFD SHUl A3 REQUIRF
N4
L] L
SPACING SPACING
(STRNGHT TRAGK) (STRAGHT TRACK}

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 29



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

TRACK INSTALLATION (continueq)

Failure to properly secure the Anchor Pad could allow the Springs to violently disengage from the wall
and could result in death or serious injury. NEVER use nails! It is important that the Torsion Spring
Assembly is securely mounted to the wall structure.

CENTER SPRING PAD INSTALLATION
1. Measure CENTER LINE OF SHAFT (C/L) and verify area for proper spring pad mounting.
2. lIdentify style of spring/shaft assembly supplied with door.

3. Center anchor pad(s) MUST BE at least 2" wide by 6" high to properly support center bearing bracket(s).
Single shafts will require a single pad/bracket centered in the door opening. Dual shafts with couplers
will require two pads/brackets centered in opening and spaced approximately 12 inches apart.

4. Center anchor pad(s) MUST adequately support the center bearing bracket(s) and torsion spring
assembly.

5. If center anchor pad is wood, pad MUST BE free of cracks and splits in the wood. If wood is cracked
or split, it MUST BE replaced. DO NOT use wood of less than grade 2 yellow pine or wood labeled as
spruce-pine-fur (SPF). Pilot drill all holes to prevent splitting of wood.

MOTE: ALL METHODS OF UPFER TRACK AMND BEARING BRACKET ANCHORING REQUIRE
THAT THE TRACK SPACING DIMEMSION TOLERAMNCES OF + 1,/4° NOT TO BE EXCEEDED.

RECOMMEMDED ALTERMATE
MOUITHE BRACET  MOUING BRAGKET T MOTLD SACKEL e emackeT e RN
COMNCRETE BLOCK S0UD ONSRETE A BOLID HATERIAL T SRUCTURAL STEEL STRUGTURAL SST%ETUMR%
HS,_ EE"“".S,E'S PLUG WELDS
3/8"
WASHER
378" % 112" PLUG
SELF WELD
MIF LK - - TAPPRING
3/ & 1-1/77 n - SCREWS 1/8"
38" w2 A /B FILLET
HOLLOW SET SiEEvE HHEHOR 1-1,/2" LONG
ANCHER #  TYFE OF AMCHOR
AHGHOR WITH USED WILL BE SUITABLE
3,/8-16 BOLT
FOR TYPE OF S0UD

BACKING BEHIND WCOOD.

page 30 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

TRACK INSTALLATION (continueq)

CENTER BR3. MNCHOR PAD
WMOINTHG AREAS
[unszza'ua'H]]

opL|

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 31



@TKO TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PANEL INSTALLATION

COMPONENT IDENTIFICATION

1.

Set up area:

- Obtain and set up saw horses or work table for assembling door hardware to panels.

- Make sure there is nothing on the work surface, which could scratch or damage panel
surfaces while assembling hardware to panels.

Identify panels:

- Inspect panels for any missing or damaged panels. Call TKO doors or local distributor/
dealer if assistance is required.

- Determine which panel the cable bracket will be attached to (see Installer Detail Sheet).

Bottom panel:
- The bottom panels have a horizontal (dual bulb) seal on the top of the panel and a loop
seal on the bottom.

Second and Third panels:

- The Second and Third panels have a horizontal (dual bulb) seal on the top and bottom of the
panel.

- This panel could be 127, 18" or 24" high depending on door height. Smaller panels are always
installed above larger panels.

- If a window panel was supplied, it is typically placed in the 3rd panel from bottom position.

Fixed plungers are required on the Fourth and Higher panels when the counterbalance cable attachment
is NOT at the top of the door.

5.

6.

Fourth and Higher panels:

- The Fourth and Higher panels have a horizontal (dual bulb) seal on the top and bottom of the
panel.

- This panel could be 127, 18" or 24" high depending on door height.

Top panels:

- The top panels have a T-Slot seal on the top of the panel and a horizontal (dual bulb) seal
on the bottom.

- This panel could be 127, 18" or 24" high depending on door height.

Page 32 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

PAN EL I NSTALLATI ON (continued)

PLUNGER DESCRIPTION

Uw FIAED ROLLER

PLUMGER ASSY U «L PLUNGER
_ BRACKET ASSY
J0-00495 2000799

PLUNGER ASSY L
20-00575

Uw LOW HEADIROOM UWw LOW HEADROOM
FLUMGER ASSY, RH PLUNGER AESY, LH

20-00034

Z

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 33



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PANEL INSTALLATION (continueq)

COMPONENT ASSEMBLY - OVERVIEW

1. Assembling panels:

All panels have a Fiberglass, Super Panel, or Kicker Plate for an interior skin and an
aluminum exterior skin.

Instructions indicating left or right are based on facing the door opening from inside

the building.

Identify specific door order specifications before assembling hardware to panels.

(See Job Specific documents)

Identify the track style before assembling hardware to panels to determine proper cable
bracket mounting.

Identify the # of door panels per door and identify plunger configuration for style and
quantity.

Fixed plungers are to be mounted to the top panel(s) and spring plungers to the lower
panel(s) unless upper bump lock option is supplied .

Identify any/all panel accessory options before assembling hardware to panels.

Certain accessory options may change standard panel hardware and plunger configuration.
Lube plunger springs and rods with white lithium grease prior to stacking panels. With
covers off, spray plunger rods thoroughly so that contact points of housing/rods are covered.
When installing handles, bolts supplied for accessory hardware MUST BE used.

Install cables to the outside holes of the lift brackets while assembling hardware to panels.

Fixed plungers are required on the Fourth and Higher panels when the counterbalance cable attachment
is NOT at the top of the door.

Page 34

© 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



DTKO

User’s Manual DOCK DOORS

PAN EL I NSTALLATI O N (continued)

FULL DOOR PANEL ASSEMBLY

{UTSE HOLE F UFPER BUWP LOCK OPTION 15 SUPPLED,

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 35



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

COMPONENT ASSEMBLY - BOTTOM PANEL

1. Bottom panel:
- ldentify the track style of the door and refer to panel drawing (A), (B), or (C) for ins tructions.
- If assembling (A): install panel plates, handle/step plate(s), female hinges, and spring

plungers.
- If assembling (B): install panel plates, cable brackets (HL/T2), cables, handles/step plates,

female hinges, and spring plungers.
- If assembling (C): install panel plates, cable brackets (LH), cables, handles/step plates,

female hinges, and low headroom spring plungers.

Page 36 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



User’s Manual

DTKO

PAN EL I NSTALLATI ON (continued)

BOTTOM PANEL ASSEMBLY

(A, TRACK STYLES: 5 = SIRAGHT VERTICAL

T =TI70T
(Hy TRACK STYLES: L= HGH LIFT
T2 = T2 70T

- EXTERIOR SLARACE
{C] TRACK STYLES: LH = LOW HEAZROOW
HOREOHTAL SEAL

TCF

~——INTERIIR =JRFACE

. FIRERGLASS
SUPER PAYE.
1/3-30 ¥ 2-3/4" CRC BOLT HIEKIR PLAT
W10 SUAPOEL HaDaaE, -, '"““? SPRING
&
3*.-"'"__.. b - FLU"J-\JEE'

— ROTTOM 55a

FAMEL SFWVER
CPACTORY INETALLID)

“SEE CASLE AT FOR

" EANEL SHACER "

\—1 FA=20 TLKG T

kL FAMEL SFACER
(TCTORY INSTALLED)

HARDLE

FROPER B2_T USAGE,

312 = 3/1% ROOF PIICH
AWM 12412 = 15412 300F PITCH

45 x 37 CRE BOLT

STEP PLATE/ROPE AT
{(E-w TOA e
F ROPER 0L Lt
it ! =5 o
:;% ANEL:-RUTE LLIAL D
HOC
1. ASWCLE SET PLATESROPE ATT MUST BE MCUMTED OW EOTTOM PAMEL CW _IFT CF RIGHT SIDE.
15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 37



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

COMPONENT ASSEMBLY - SECOND AND THIRD PANELS

2. Second and third panels:
- ldentify the track style of the door and refer to panel drawing (A) or (B) for instructions.
- If assembling (A): install female hinges, male hinges, spring plungers and/or fixed plungers.
- If assembling (B): install female hinges, male hinges, spring plungers and/or fixed plungers.
- If slide lock(s) are supplied, panel plate(s) MUST BE installed at customer’s desired
location.

Page 38 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

PAN EL I NSTALLATI ON (continued)

SECOND AND THIRD PANEL ASSEMBLY

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 39



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

COMPONENT ASSEMBLY - FOURTH AND HIGHER PANELS

3. Fourth and Higher panels :
- ldentify the track style of the door and refer to panel drawing (A) or (B) for instructions.
- If assembling (A): install female hinges, male hinges, and fixed plungers.
- If assembling (B): install female hinges, male hinges, and spring plungers.

Fixed plungers are required on the Fourth and Higher panels when the counterbalance cable attachment
is NOT at the top of the door.

Page 40 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



User’s Manual @ TKO‘

DOCK DOORS

PAN EL I NSTALLATI O N (continued)

FOURTH AND HIGHER PANEL ASSEMBLY

HORIIOWTAL SEAL
(DAL BuE)
{A) TRACK STYIES: HL = HIGH LIFT
) LH = LOW HEADRODM
o =MW
DETAL A #4
FEMALE HINGE T mT
FOED
PLUMGCER
WHDOW PANES (OFTIONAL) ARE TYPICALLY
MOUNTED M THE D PANEL POSTION
HORIZONTAL SEAL
BTTOM FDED
PLUNGER
Z
1/4-20 X 2 3/4" CRG BOLT 3
2" PANEL SPACER Qz\?f
“ ;
mmx M. % - Q\-!m_s HIMEE

\"-1;4-—31 FING MIT

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 41



@Drcgoooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

COMPONENT ASSEMBLY - TOP PANEL

4. Top panel:
- Identify the track style of the door and refer to panel drawing (A) or (B) for instructions.
If assembling (A): install panel plates, cable brackets (SV/T1), cables, hinges, and
fixed plungers.
If assembling (B): install panel plates, male hinges, and fixed plungers.
If trolley option is supplied, panel plate MUST BE installed on center of top panel. (See below )
If upper bump lock option is supplied, spring plungers MUST BE mounted to the top panel.
If posi-lock option is supplied, install posi-lock hardware to top panel at indicated location.
Do not install plunger covers until after panels are stacked in door opening.
- Do not completely tighten down flange nuts. By leaving these bolts loose, the hinges can
be moved slightly to line up the male and female hinges for easier insertion of hinge pins.
After panels are stacked, tighten all nuts (1/4-20 thread) to a torque of 6 foot-pound.

TROLLEY PANEL PLATE MOUNTING

Kb BOTH TERETIT BECEVE (3 FAMEL FLARD
‘\\\v ) AOTTSTEY MV WAL

R FATE, W, 24 - E-TENE
PAREL PLATE, Wi, B - Zhd0E0
FEREL FLazE, wv, 3% - 3B-H50

?3;5/‘ TF PREEL SHESW

Page 42 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual

PAN EL I NSTALLATI ON (continued)

TOP PANEL ASSEMBLY

3¢ = FIRATCHT YERTICAL

(8] TRACK SIYLES:
T =T 0T
{I:LE 2EE-'!-J:I_' ‘HEWRBDLT G SITES: l[l||4 B ﬂ:: I-II-|:|:DHI:IC-H
EUOFERE BN LI=AGH. .H‘? T = T2 TLT
HOLES g,'g SVTERICR SURFACE 37122 - 3712 ROOF FMCH
LF ALLIMINL M 12/12F = 12/12 RCOF FITCH
A T=200T
: ;TP
H ra HTEF‘IDF SURFACE
FIFERGLASS DAEE 3K
™, POSTCH A4S SHOWN
T
CABLE ATT SR \ .
SLOTS Wi
HENY FIN=l =
HLJHER

HOR ZOHTAL =28
BITTOM

[£4-20 ¥ 3 3/e" op6 BOLT s Q\ .
PELIE \ MALE HINGE

20
#4570 SUPECIET HARTWARE —

1/4-20 TLHNG HNLT Iy

il 1o 3

¥|F URPER BUMP LCZE OPTICH IS SUPPLED.
ALUMZERS WUST BE MOJRTED TO

SPRING :
TOP PANEL AND FIXED PLUNGERS MUST BF
WCLNTED T2 THE PAMCL DIRECTLY BELOW e

THE ToR PaMCL.

Page 43

15-00017 R3 02/07 MW, TW, JrIMW © 2007 4Front Engineered Solutions, Inc.



@lﬁmoﬁ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

PANEL STACKING

Page 44 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

PAN E L I NSTALLATIO N (continued)

Cable Attachments MUST BE installed as shown for door to operate safely and correctly. Failure to do
so could allow door to fall and could result in death or serious injury.

CABLE ATTACHMENT

RUE RING, 5/1E"
_____ (SUPPLIED W/ BRKT]

CHELE 17420 » 3" CRG BOLT
(SUPFLED W/ ACC HR
FIN, CLEWS, 5/1841" ’j}”
(SUPPLER W/ BRKT) ﬁg
‘;:5
PLUNGER * TRAGK STILES: S = STRACHT VERTIRAL

1 /4-20 FNE ™ =T1 LT
[SUIPPLIED’ W/~ AL tIF UPPER BUMP LOCK OPTION IS SUPPLIED.

> . SPRING PLUMGERS MUST BE MOUWTED TC
- TUP PGREL AMND FIKEDR PLUNGERT MUST BE
/'Q' MOLUMNTED TO THE PAREL DIFECTLY BELCW
R

THE T&P PAMEL.

14420 ¢ 3 144 CREG_ BOLT
(SUPPLIET: %/ BRKT)

< -
2wt iR, 5 0
B4 s

" HANOLE

l?[EF FTDﬁmFE AT

TRACK. STILES: H=

H
SRRING PLUNGER = T2 Tir
|:5LFFLE[J1 e fﬁ - %‘1{? o P

5

Y 3 o o
,{{SU ED W,/ ACC HROIWY

-
./’/} é.f_"n
: [ PRLED w,.f e HRE4)
‘ GiBLE ATt BRIT

HANDLE
ﬁ\ MHHPE AT
\ H PLUNGER LH PLUNGER LTS

oan FLN TRACH STYLES:  LH- LOW HEADROOM

PF'LIEIJ W H:ﬂ HFLZ4)

1 H.FHI:ILE SET PLATESROPE ATT MUST BE WOUNTED OW BOTTOM PAREL OW LEFT OR RIBHT SOE
2, CABLE BRMT LGCEMCH WAT WORT WITH DRDERL.  SEE WK PAMEL HARTTWARE SPEC SHEET FUR LIGGETION,

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 45



@lﬁmoﬁ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

HANDLE INSTALLATION

Page 46 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

PAN EL I NSTALLATI ON (continued)

SLIDE LOCK INSTALLATION
1. Identify quantity of slide lock assemblies to be installed and customer desired location(s).

2. Mount plate, hinges and plungers as shown.
3. Position slide lock assembly so that slide lock bar is level and in-line with slide lock hole on track when
door is fully closed and creating proper seal at bottom.

4. Install slide lock assembly to panel plate using (4) Tek screws. Slide lock bar MUST extend through the
track allowing proper clearance of lock hole when bar is engaged.

SLIDE LOCK INSTALLATION

FRONT EDGE OF SLIDE LOCK HOUSING MUST NOT
EXTEND BEYOND OUTER EDGE OF PANEL.

LICK HOLE
USE THESE HOLES FOR MOUNTING

FEMALE HINGE %

/—24 PANEL PLATE

2%

MALE HINGE

\_SLIDE LOCK
LINTEL SEAL INSTALLATION

1. Brush seal: Hold brush seal up to door jamb header so that brush creates a seal between door panel
and door jamb. Mount seal to header with preferred mounting method. Ensure that the brush is not too
tight against door panel that it creates drag against the door.

2. Blade seal: TKO supplies two sizes of black EPDM seal and retainer with each door requiring a blade
seal application. This seal DOES NOT come factory mounted on the door. There are three different
assembly applications that you can use with this seal. However, the ONLY constant is that the panel will
always get the 2-1/2” seal with the 45D retainer and the header will always get the 1-3/8” seal with the
90D retainer.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 47



@L“ n(ooon§ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PAN EL I NSTALLATI ON (continued)

DECALS & PLACARD INSTALLATION

The Safety Decal (Part Number 15-00053) and Model Identification Decal are factory installed to the third panel
on the right side as shown in the illustration below. The Warning Placard must be posted next to the door in a
viewable location for the operators of the door.

DECALS & PLACARD INSTALLATION

| = PRGDUCT
: IGENTIFICATION

M
\\/*’“ . WARNING
PN

o™,

PLACARD
= 15-00011

HRMH-SAFETF DECAL

- TRACK SPACING
“lll [F| 1500053

u . |
=
I-ul
LI J
e o ]
::
I o= =
L |
=
e

Page 48 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

PANEL INSTALLATION (continueq)

DECALS & PLACARD INSTALLATION (continued)

The Safety Decal (Part Number 15-00053) illustrated below contains the Track Spacing Dimension, Serial Number,
and Model Name. Inspect each door every 30 days to ensure that this decal is still fastened to the door and is
legible. If the Safety Decal is not present, consult the factory to obtain a replacement Safety Decal.

Model Hame:
SAFETY INSTRUCTIONS i @m ] g

st s ] Crutsarmnigs
i B G e AR ] Mg

Iw-. Dy ICE;““.I

i = ey et i et ppr— i e L
i e mad
T T

o e £ o et e e e s T T 3 i . 4 4 T ey
B

T e e T 4 R s o b 1, P, o
e, ST WL P MR BT

The Warning Placard (Part Number 15-00011) illustrated below must be posted next to the door visible to the
users of the door. Inspect each door every 30 days to ensure that this placard is still posted near the door and
is legible. Replace as necessary.

+ Read and foffow all warnings and instructlons In the Owner's Manual, door mounted Safety Decal, and this
wail mounted Placard.

. Wﬁmmmmmhm

. use damaged or maifunctioning deck doors. Report probloms immediately to supervisor.

. WMWM&&M i and free of o fi Shouid the door become difffcult to
operate or compietely inoparative, report to supervisor.

+ DO NOT throw door up violently. Using excessive force fo open the door may cause the door cables fo Jump or
door panels to disengage from tracks.

- DONOT close door onto cbstructions. Obstructions In the opening may stop the door’s movement and cause
the door cables fo fump or door panels to disengage from tracks.

+ TRACK SPACING tolerances MUST always be ined with tracks ly f bafore door Is oper-

ated,
+ Operating door with Improper TRACK SPACING or mounting could cause panels to disengage from the track,
which could crush you and cause death or serfous injury. mwm«mmmmmmm

+ Impacting this door can create a hazardous slivation. mvsmmmwmmmm
mMmmﬁwwmmwma«m

+ ALWAYS follow malr le to ensure ail comy ts are fn good working condition. Damaged or
worn parts must be replaced Immediately for proper and safe operation. fisr Jod that the door be
made Inoperative untlf the damaged or worn paris fave been replaced.

+ The cable attachment bracket Is under extreme spring tenslon. DO NOT try to adfust or repalr. Repalrs or
adfustments must be made by a tralned door systems technichlan using proper tools and instructions. The
cable attachmont bracket can spring out and fit someone, which could result ln death or serfous infury.

DOOR OPERATION

To operate, keap door in full view, slowly raise door using manufacturer supplied handie(s) and lower door by slowly pulling
on supplied pull down rops. NEVER apply forcs in a manner which would causs the pansls to disangage from the track. if
dwfhaa mm&w-cw mmmmwnmdwandmwmmw%wr

1wmemmmmmww
> Plungers of the top pane! must be engaged in track,
* Cables must be propery tensioned and seated in the grooves of the cable drums.
> Panels must be sitting level with hardware Intact.
= Tratks must be square to jamb face and sscurely mounted,

1F ther above conditions are mel, continue with resetting door (see steps 3-8 below). If any of these conditions ane not

mat, DONOT use door, Stay clear of door snd immediately repor! incident to supenvisor and have a trained door

syalems lechnician inspecl and resel door,

3. Clear fork truck andior &l product frem dock door area.

4. Grab facturer li {s) and pull door panels back into tracks. If the speng plunger lips are obstructed al
any point of the retumn travel, the plunger rods may be manually retracted while puking panels back Inta fracks, Depend-
ing on conditions, this operation may require 2 peopie o safely resst the door.
= NEVER try fo open or close door untll aif penel plungers are reset back lnto treck and door has been Inspected.

»  NEVER climb under impacted panels to reset door.

5. Check panels, track, hardware and fastaners for any damage, locseness, misalignment and verify TRACK SPACING
BEFORE operating door.

6. After panels have been engagad back into the tracks, carefully cycle the door to its fully open and closed position

- miaking sure oparation is smooth throughout its entire travel cycls.

| Faiture to follaw these and other provided warnings could result in death or serious injury. |

Cail for adeiional piacards, manuals of with queslions ragerding proper use,
¥ mainienance and repalr of dodk doors.
“"T o 56 W4T N, Corporaie Ciicle *  Sassax, W1 53089

DOCK DOORS Phome: {262) $201217 = Faz: {367 R20-1273 PIN: 15-00011 REV: E 12705

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 49



@LKKNQ; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PANEL INSTALLATION (continueq)

DECALS & PLACARD INSTALLATION (continued)

The Spring Warning Tag must be fastened to the center bearing bracket for the counter balance springs as
illustrated on the adjacent page. Inspect each door every 30 days to ensure that this tag is still fastened to
shaft/spring assembly and is legible. Replace as necessary.

Ihes Sp0es 3psanbly wuil P T
irciodes spinga, spinaerchor SPNNGs are urider

bratkels, cebes canle diumg, ant i
Bagrite 2ackens, is undar aeireme extreme tE!ﬂSICI"I

b aan &0 S AN St and can result in
irji ry rr ceedh # otz wnprogenly They .
slvndd conly Lo saduestead o repennset by g SST2US INUY or death,
braares daor epalers echimiEn Dﬂ ﬂ(}T Ir'-.-' I’J deIJST ar
Cora Iry i3 remoee, répa” o 23)45! ety ; e
wat Biecks, srusiute Qs 319S Crac-els [epan spnrgs.
o Aryth ny elEe s R 3y dedr oF 3pring
ports e fesored aC= REVERSE SIDC

SFF REY=RES AINF 0C NOT REMOVL TIHIS TAG

DO SNOT REMOCVE THIE TAS

=

[’ sln b B HH

Page 50 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



3y -
User’s Manual DOCK DOORS

RIGHT SIDE

¥ SPRING WARNING TAG )

2 g"
a
\\,_A
NT BLACK
A RIGHT SIDE
NE \\\W ¥ SPRING WARNING TAG
\

© 2007 4Front Engineered Solutions, Inc.



@TKQ TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SPRING/SHAFT INSTALLATION

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

COMPONENT IDENTIFICATION

1.
2.
3.

Identify specific spring, shaft, and bearing kit required for selected door; (See Job Specific documents)
Inspect spring/shaft components for any missing or damaged items.

When viewing the door from the inside of the building, looking out, RED winding cone torsion springs/
drums are installed on the left side of the door and BLACK winding cone torsion springs and drums are
installed on the right side of the door.

Failure to install the torsion springs correctly will cause the door to function improperly and could result
in serious injury. If door is to be equipped with a chain hoist or motor operator, a solid keyed shaft MUST
BE used for shaft assembly.

SINGLE SPRING/SINGLE SHAFT ASSEMBLY

1.

2.
3.
4

10.

11.
12.

13.

Layout counter balance parts on floor
Identify if spring is left hand (red) or right hand (black)
Slide center bearing to the center of the shaft with the bearing race facing away from the selected spring.

Slide the left spring (red) on to shaft with the stationary spring cone facing the center of shaft and the
winding cone to the outer.

Slide the right spring (black) on to shaft with the stationary spring cone facing the center of shaft and the
winding cone to the outer.

Bolt spring stationary cone, center bearing, and center bearing bracket together.
DO NOT tighten completely, this will allow for adjustments with installation.

Slide the left drum (red) on the left side of shaft with the setscrews facing the center of
the shaft.

Slide the right drum (black) on the right side of shaft with the setscrews facing the center of
the shaft.

Slide on specified end bearings on to both ends of shaft with correct orientation. The bearing race has
an outside diameter of 1-1/4” and projects from the flange 1/8”. The bearing housing has an outside
diameter of 2” and projects from the flange 3/8”. The bearing race needs to be facing the cable drums.

Lift counterbalance assemble onto end bearing plates, making sure end bearing are positioned inside of
plates with races facing inward.

Secure shaft and bearing to plate using carriage bolts supplied.
Slide drums against end bearing races. Insert the shaft key for each drum when a solid shaft with a
keyway is being used.
Tighten the set screws as follows:
e Solid Shaft: Do not exceed 1/2 turn after coming in contact with the shaft.

¢ Hollow Shaft: Tighten set screws enough to dimple shaft, about 1-1/4 turns after set screws first
hit shaft.

Page 52 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

SPRING/SHAFT INSTALLATION (coniinueq)

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

SINGLE SPRING WITH SINGLE SHAFT

~ A
-BEARING RACE TO FACE AWAY FROM DRUM BEARING CPTION
-MOUNT TO OUTSIDE FACE OF BEARING PLATE

1" HIGH CYCLE BEARING ®
125" HIGH CYCLE BEARING

DETAIL B

MIN CLEARANCE ° RED
BEFORE WINDING LEFT SIDE

FLANGE BEARING (STANDARD)
-BEARING RACE TO FACE DRUM

CMOUNT TO INSIDE FACE OF BEARING PLATE
2\ LEFT DRUM (RED)
@\ ﬁ ‘ (HIGH LIFT SHOWN)

% 1/4" X 3" SHAFT KEY
(SOLID KEYED SHAFT ONLY)

7
,/// * SPRING WARNING TAG

/_
\\

CENTER BEARING BRKT-LH (SHOWN)
R
CENTER BEARING BRKT-RH

BLACK
WINDING
SHORT LEG MUST BE DOWN CONE
% 3/8-16 X 1-1/2" HEX BOLT

(@X)-FULL THREAD
STATIONARY CONE
* CENTER SHAFT BEARING

1" TUBE SHAFT

R

1" SOLID KEYED SHAFT (SHOWN)
R

BLACK
RIGHT SIDE 1-174" SOLID KEYED SHAFT

* SPRING WARNING TAG

RIGHT DRUM (BLACK)
' (VERTICAL SHOWN)

FLANGE BEARING_(STANDARD)
£ DRUM

¥ SPRING WARNING TAG | -BEARING RACE TO FAC
DETAIL A -MOUNT TO INSIDE FACE OF BEARING PLATE

NOTE:
% INCLUDED IN CBAL KIT.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 53



@lﬁnoons TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SPRING/SHAFT INSTALLATION (continueq)

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

DOUBLE SPRING/SINGLE SHAFT ASSEMBLY
1. Layout counter balance parts on floor
2. Slide the two center bearings to the center of the shaft with the bearing races facing each other.

3. Slide the left spring (red) on to shaft with the stationary spring cone facing the center of shaft and the
winding cone to the outer.

4. Slide the right spring (black) on to shaft with the stationary spring cone facing the center of shaft and the
winding cone to the outer.

5. Bolt spring stationary cones, center bearing, and center bearing bracket together.
DO NOT tighten completely, this will allow for adjustments with installation.

6. Slide the left drum (red) on the left side of shaft with the setscrews facing the center of
the shaft.

7. Slide the right drum (black) on the right side of shaft with the setscrews facing the center of
the shaft.

8. Slide on specified end bearings on to both ends of shaft with correct orientation. The bearing race has
an outside diameter of 1-1/4” and projects from the flange 1/8”. The bearing housing has an outside
diameter of 2” and projects from the flange 3/8”. The bearing race needs to be facing the cable drums.

9. Lift counterbalance assembly onto end bearing plates, making sure bearings are positioned inside of the
plates with races facing inward.

10. Secure shaft and bearing to plate using carriage bolts supplied.
11. Slide drums against end bearing races. Insert the shaft key for each drum when a solid shaft with a
keyway is being used.
12. Tighten the set screws as follows:
e Solid Shaft: Do not exceed 1/2 turn after coming in contact with the shaft.

¢ Hollow Shaft: Tighten set screws enough to dimple shaft, about 1-1/4 turns after set screws first
hit shaft.

Page 54 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

SPRING/SHAFT INSTALLATION (coniinueq)

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

DOUBLE SPRING WITH SINGLE SHAFT

(
-BEARING RACE TO FACE AWAY FROM DRUM BEARING OPTION

-MOUNT TO OUTSIDE FACE OF BEARING PLATE

P T,
-MOUNT TO INSIDE FACE OF BEARING PLATE 1" HIGH CYCLE BEARING

0R

* 174" X 3" SHAFT KEY
(SOLID KEYED SHAFT ONLY) DETALL B

EgNTER BEARING BRKT-LH (SHOWN)
CENTER BEARING BRKT-RH

RED
g+ LEFT SIDE

BLACK
MIN CLEARANCE WINDING

BEFORE WINDING CONE

1 TU]IB:IER SHAFT

1" SOLID KEYED SHAFT (SHOWN)

[R
1-1/4" SOLID KEYED SHAFT

SHORT LEG MUST BE DOWN

* 3/8-16 X 1-1/2" HEX BOLT
@X-FULL THREAD)
STATIONARY CONE
* CENTER SHAFT BEARING I

* SPRING WARNING TAG
STATIONARY CONE

- RIGHT DRUM (BLACK)
* :(32/)?) 16 FLNG NUT' (VERTICAL SHOWN)

FLANGE BEARING (STANDARD)
-BEARING RACE TO FACE DRUM
-MOUNT TO INSIDE FACE OF BEARING PLATE

NOTE:
* SPRING WARNING TAG * INCLUDED IN CBAL KIT.

DETAIL A

. J

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 55



@TKO TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

SPRING/SHAFT INSTALLATION (continueq)

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

DOUBLE SPRING/SPLIT SHAFT ASSEMBLY

1.
2.

3.

10.

11.

12.
13.

14.

Layout counter balance parts on floor

Slide each 1/2 of the coupler flush to the ends of the both shafts that will be mounted together in the
center.

Install keys into shaft/coupler and tighten setscrews.

Coupler, shaft and key MUST BE flush. Both ends will be bolted together when installing spring
assembly.

Slide center bearing on to each shaft with the race facing the coupler.

Slide the left spring (red) on to left shaft with the stationary spring cone facing the coupler. Slide the right
spring (black) on to right shaft with the stationary spring cone facing the coupler.

Bolt spring stationary cones, center bearing, and center bearing bracket together.
DO NOT tighten completely, this will allow for adjustments with installation.

Slide the left drum (red) on the left side of shaft with the setscrews facing the coupler.
Slide the right drum (black) on the right side of shaft with the setscrews facing the coupler.

Slide on specified end bearings on to both ends of shaft with correct orientation. The bearing race has
an outside diameter of 1-1/4” and projects from the flange 1/8”. The bearing housing has an outside
diameter of 2” and projects from the flange 3/8”. The bearing race needs to be facing the cable drums.

Lift counterbalance assembly onto end bearing plates, making sure bearings are positioned inside of the
plates with races facing inward.

Secure shaft and bearing to plate using carriage bolts supplied.
Slide drums against end bearing races. Insert the shaft key for each drum when a solid shaft with a
keyway is being used.
Tighten the set screws as follows:
» Solid Shaft: Do not exceed 1/2 turn after coming in contact with the shaft.

¢ Hollow Shaft: Tighten set screws enough to dimple shaft, about 1-1/4 turns after set screws first
hit shaft.

Page 56 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

SPRING/SHAFT INSTALLATION (continueq)

Failure to assemble the Torsion Springs and Counterbalance System correctly will cause the door to
function improperly and could result in death or serious injury.

DOUBLE SPRING WITH SPLIT SHAFT

-BEARING RACE TO FACE AWAY FROM DRUM BEARING OPTION
FLANGE BEARING (STANDARD) -MOUNT TO OUTSIDE FACE OF BEARING PLATE
-BEARING RACE TO FACE DRUM
-MOUNT TO INSIDE FACE OF BEARING PLATE

LEFT DRUM (RED) 4

CHIGH LIFT SHOWN 1" HIGH CYCLE BEARING ®
% 1/4" X 3" SHAFT KEY 1.25" HIGH CYCLE BEARING
(SOLID KEYED SHAFT ONLY>

LEFT HAND SPLIT SHAFT

DETAIL B

CENTER BEARING BRKT-LH

SHAFT COUPLER
CENTER BEARING BRKT-RH

RED
6+ LEFT SIDE
MIN CLEARANCE
BEFORE WINDING

BLACK
WINDING
CONE
RIGHT HAND SPLIT SHAFT
I'DRSI]LID KEYED SHAFT (SHOWN)

1-174" SOLID KEYED SHAFT

SHORT LEG MUST BE DOWN
~ —STATIONARY CONE —
% CENTER SHAFT BEARING

@X) 3/8% LOCK WASHER

% 3/8-16 X 1-1/2" HEX BOLT
(4X-FULL THREAD)

BLACK
RIGHT SIDE
* SPRING WARNING TAG

RIGHT DRUM (BLACK)
| (VERTICAL SHOWN)

FLANGE BEARING (STANDARD)
-BEARI Cl

ACE TO FACE DRUM
-MOUNT TO INSIDE FACE OF BEARING PLATE

|
NOTE:

* INCLUDED IN CBAL KIT.
3/8-16 X 2" BOLT (PARTIAL THREAD)

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 57



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

WINDING SPRINGS

The Spring Assembly, which includes the Springs, Spring Anchor Brackets, Cables, Cable Drums and
Bearing Brackets, is under extreme tension and if handled improperly, could result in death or serious
injury. Spring Assemblies should ONLY be installed, adjusted or repaired by a trained door systems
technician.

SECURE DOOR

1. Check stacked panels for level.

2. Verify that the cable attachment bracket is installed on the correct panel (see Installer Detail Sheet).
3. Securely lock door in down position to prevent door from opening while winding springs.

INSTALL CABLES

1. Position Left-Hand (red) drum to shaft, making sure that the drum is tight against the bearing race.
Tighten drum to the shaft. If shaft is solid keyed, properly align drum/shaft and install shaft key prior to
tightening.

2. Obtain cable that is attached to the left cable bracket on panel and run it up to the shaft between the
wall and the drum. On straight vertical doors, attach cable to the outside hole of the cable attachment
bracket.

3. Place cable stops in the notch in the backside of drum and turn the drum/shaft until all slack in cable is
removed. Make sure cable is seated properly in the grooves of the drum.

4. Fasten locking pliers to the shaft with the handle braced against the wall to keep cables taut.
5. Position Right-Hand (black) drum tight against bearing race.

6. Obtain cable that is attached to the right cable bracket on panel and run it up to the shaft between the
wall and the drum. On straight vertical doors, attach cable to the outside hole of the cable attachment
bracket.

7. Place cable stops in the notch in the backside of drum and turn the drum until all slack in cable is
removed. Make sure cable is seated properly in the grooves of the drum.

8. Tighten drum to shaft. If shaft is solid keyed, properly align drum/shaft and install shaft key prior to
tightening. Each cable MUST have the same amount of pre-tension.

9. If split shaft is supplied, securely tighten shaft coupler bolts.

WIND SPRINGS
See parts book IDS (Installer Detail Sheet) for spring turns.

1. Clear the area of personnel and keep yourself out of the direct path of the winding bars while winding the
torsion springs.

2. Use a sturdy ladder or platform to stand on and keep slightly to the side of the winding bars.

3. Mark horizontal chalk line across the entire length of spring(s). This will help indicate the number of turns
placed on the torsion spring(s).

The spring assembly, which includes the springs, spring anchor brackets, cables, cable drums and
bearing brackets, is under extreme tension. Spring assemblies should ONLY be installed, adjusted
or repaired by a trained door systems technician. Winding bars MUST fit snugly into the holes in the
winding cone. NEVER use smaller rods or screwdrivers as winding bars. Failure to use proper winding
bars could result in death or serious injury.

Page 58 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



) TKO,

User’s Manual DOCK DOORS

WINDING SPRINGS (continued)

WIND SPRINGS (continued)

4. Itis not recommended to use paint to mark a line. This may alter the performance of the spring.
5. Insert the winding bars into the full depth of hole in the winding cone.

6. Wind springs in an upward direction 1/4 turn and hold the tension.
7

Insert the second winding bar fully into the next available hole in the winding cone. Take the load on the
second winding bar and remove the first winding bar.

8. Wind the second winding bar upward 1/4 turn. Always wind springs in 1/4 turn increments. Four 1/4 turns
are required to obtain one full turn. The number of turns can be obtained by counting the turns of the
chalk line.

9. Continue this procedure until the specified number of turns per spring is obtained. If tension in the
torsion spring DOES NOT increase when adding 1/4 turn, the springs may be reversed. As the torsion
springs are wound, the spring will grow longer. Allow winding cone to move outward as turns are applied
to prevent “kinking” of spring wire.

10. When the last 1/4 turn has been completed, insert a second winding bar into the bottom hole of the
winding cone and stretch springs outward 1/4". This will eliminate the possibility of spring coils binding
during operation.

11. Tighten setscrews on the winding cone with oiled threads to 15-16 ft-Ibs. Follow the recommendations
listed below to avoid exceeding the specified torque:
- Solid Shaft: Do not exceed 1/2 turn after coming in contact with the shaft.
- Hollow Shaft: Tighten set screws enough to dimple shaft, about 1-1/4 turns after set screws first hit
the shaft.

12. Make sure all springs are thoroughly oiled (around the entire circumference of the spring) with 10W-30
motor oil or food grade equivalent.

13. Repeat this procedure for other spring. On doors with two springs, both springs should be wound the
same amount of turns.

If any adjustment to the Upper Tracks has to be made, the door MUST BE locked in the closed position.
If it is required to add or reduce the tension of the Torsion Springs, always use Winding Bars and stay
clear to the side. Be prepared to handle the force of the Springs. NEVER adjust the Center Bearing
Bracket after the Springs are wound.

Use caution when opening the door for the first time. If the Tracks are incorrectly mounted too wide,
the door may fall out of the Tracks.

14. Install SPRING WARNING TAG as shown in the illustrations below.

BLACK
RIGHT SIDE

BLACK
RIGHT SIDE
% SPRING WARNING TAG/

* SPRING WARNING TAG /

15. Remove locking pliers from shaft.
16. While securely holding down the door, unlock the door and slowly raise the door.

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 59



@Dtcﬁm:oni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

WINDING SPRINGS (continued)

The Spring Assembly, which includes the Springs, Spring Anchor Brackets, Cables, Cable Drums and
Bearing Brackets, is under extreme tension and if handled improperly, could result in death or serious
injury. Spring assemblies should ONLY be installed, adjusted or repaired by a trained door systems
technician.

SINGLE SHAFT

Page 60 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

WI N DI NG SPRI NGS (continued)
A WARNING

The Spring Assembly, which includes the Springs, Spring Anchor Brackets, Cables, Cable Drums and
Bearing Brackets, is under extreme tension and if handled improperly, could result in death or serious
injury. Spring assemblies should ONLY be installed, adjusted or repaired by a trained door systems
technician.

SPLIT SHAFT

) |
! |

&FED
CABLE STOP

NETE: OATHE
CABLE MUST BE 1/2 TURN MIMMUM ON CRUM CAHLE STOP

CFNTER BEARING BRKT-LH

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 61



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

DOOR OPERATION

Before operating the door, read and follow the Safety Practices on pages 4 and 5. Stand back. Moving
door can crush you. Keep people clear while door is moving. Failure to follow these instructions could
result in death or serious injury. NEVER try to open or close door until all Panel Plungers are reset
back into Track and door has been inspected. NEVER climb under impacted Panels to reset door.

1. DO NOT operate door if it is not properly adjusted or free of obstructions.

2. NEVER operate door until the entire opening and track/guides are free of obstructions, equipment,
material and people.

3. Keep hands clear of the tracks, hinges, springs and plungers at all times.

4. Lift and lower door with proper ergonomic methods by using supplied pull rope and door handles/step
plates.

5. Raise and lower door slowly and maintain an even door travel speed. Keep door in full view. NEVER
throw door up or pull door down at high speed.

6. DO NOT use the loading dock door if it looks broken or DOES NOT seem to work right. Tell your
supervisor it needs repair right away.

7. Chock truck wheels or lock truck in place with a truck restraining device and set brakes before loading or
unloading.

8. Keep door closed when not in use.

9. Move all equipment, material and people away from loading dock door and close dock door before
allowing the truck to pull out.

10. DO NOT use a fork truck or other material handling equipment to raise or lower the loading dock door.

RESETTING IMPACTED PANELS

1. Inthe event of a panel KNOCK-OUT or track impact situation, step away from the door a
safe distance.

2. Inspect the door system BEFORE resetting panels.
- Plungers of the top panel MUST BE engaged in track.
- Cables MUST BE properly tensioned and seated in the grooves of the cable drums.
- Panels MUST BE sitting level with hardware intact.
- Tracks MUST BE square to jamb face and securely mounted.
If the above conditions are met, continue with resetting door (see steps 3-6 below). If any of these
conditions are not met, DO NOT use door. Stay clear of door and immediately report incident to
supervisor and have a trained door systems technician inspect and reset door.

3. Clear fork truck and/or all products from dock door area.

4. Grab manufacturer-supplied handle(s) and pull door panels back into tracks. If the spring plunger tips
are obstructed at any point of the return travel, the plunger rods may be manually retracted while pulling
panels back into tracks. Depending on conditions, this operation may require 2 people to safely reset the
door.

- NEVER try to open or close door until all panel plungers are reset back into track
and door has been inspected.
- NEVER climb under impacted panels to reset door.

5. Check panels, track, hardware and fasteners for any damage, looseness, misalignment, and verify track
spacing BEFORE operating door.

6. After panels have been engaged back into the tracks, carefully cycle the door to its fully open and closed
position several times making sure operation is smooth throughout its entire travel cycle.

Page 62 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



User’s Manual

) TKO,

AVAILABLE OPTIONS

® Pilfer Proof Cable Lock Kit

® Floor-to-Track Bracket Kit

® Anti-Drift Up Lock Kit for Single Knockout Track
® Knockout Lock Kit

® Blade Weather Seal Kit for Header

FLOOR-TO-TRACK BRACKET KIT

PILFER PROOF CABLE LOCK KIT

~

DESCRIPTION

[[TEV W0_o1Y. [PART WO
T

00116 CABLE, PILFER PROT.
00026 BOLT, CRG, 1/4-203/4"
00005 NUT, FLNG, 1/4-20

SUGCESTED -00029 | BOLT, CRG, 1/4-20%2-3/4
LOCK HOUNTING 00057 SCREW,PFH 5/16-18K3"
-00180_| NUT, FLNG, TRILDK, NOSR, 5/16-18

ack NOT INCLUDED)

WW_INPACT-A-TRACK
@PTIONAD

U LOVER TRACK
AssY

W PANEL SECTION UW PANEL SECTION

STANDARD
W

FLODR 10 TRACK BRKT FLODR T0 TRACK BRKT
30-00085 30-00085

- J

FLOR T0 TRACK BRKT
30-00085

ANTI-DRIFT UP LOCK KIT FOR SINGLE
KNOCKOUT TRACK

[ITEM N o DESCRIPTION
T 20-00007 HRKT, FLODR 10 TRACK
& [ ex [0-00057 SCREW PFH 5/16-18x3"
3|2 [10-00160 | NUTFLNGTRILIKOSR,5/16-16
4 x [10-00026 BOLT, CRG, 1/4-20x 3/4"
5 '+ [10-00005 NUT, FING, 1/4-20

x INCLUDED IN HARDVARE BAG

U TRACK 30-00574 - HRDY, FLODR T0 TRACK BRKT
0

TV TRACK

®RH SHOWN)

NOTES:
1 MOUNT FLOOR 70 TRACK BRKTS 10 BOTH SIDE DF TRACK

FLOOR ANCHOR BOLT
NaT INCLUDED.

LT, CRG, 1/4-20x@-3/4°

10-10029
XISTING BOLT)

T, FLNG, 1/4-20
10-00005
(EXISTING MUY

WV TRACK
WITH INPACT-A-TRACK DPTION.
R4 SIDE TPTION)

1ARDYARE SUPPLIES.
2. CHECK & AINTAIN PROPER TRACK SPACING.
3. MOUNT BRKTS T FLOOR Y/ APPROPRIATE
HARDWARE FOR FLODR MATERIAL (NOT SUPPLIED).

VW TRACK
(Wi SIDE MOUNT

4 )

[TEW N0 pY. [PART NO. | DESCRIPTION |
(T
fV@) 2 2 [10-00005 | WUT, FING, 1/4-20
©
FLOR
w
o
o
K
o
a ADUSTABLE BUMP LOCK
/ NOUNTING HOLES
o
o FLOR
2 ° MPACT-A-
™ TRACK

KNOCKOUT LOCK KIT

BLADE WEATHER SEAL KIT FOR HEADER

UW SKO SHOWN

N

TESCRIPTION
KNOCK-00T LOCK P
KNOCK-OUT LOCK PULL RING
KNOCK=0UT_LOCK_LANYARD

[[TEM NO_JoTY. [ PART NO.
I -00388

NOTE: CUSTOM CUT RETAINERS & BLADE SEAL N FIELD
OPTION A

WALL SECTION

T0P OF PANEL

/WALL SECTION

AN

| ~VALL SECTION

/TDP OF PANEL
)
08 HIGHER
; ii T HEADER

HEADER

PTION B UTSIE INSIOE TPTIN € oursIoE INSIDE

- J

15-00017 R3 02/07 MW, TW, JrIMW

© 2007 4Front Engineered Solutions, Inc.

Page 63



@lﬁnooni TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PREVENTATIVE MAINTENANCE

Before servicing the door, read and follow the Safety Practices on pages 4 and 5 and the operations
section of this manual. DO NOT attempt to repair or adjust door components unless you are a qualified
door technician. Springs, Cable Brackets, Cables, Drums, Plungers, Supports and their hardware are
under extreme tension and can cause injuries if not properly handled. Always follow the maintenance
schedule to ensure all components are in good working condition. Damaged or worn parts MUST BE
replaced immediately for proper and safe operation. It is recommended that the door be made inoperative
until the damaged or worn parts have been replaced. Observe OSHA requirements for “LOCKOUT” or
“TAGOUT” when performing work on the door. Disconnect power before performing maintenance or
repair of electrical devices. Use proper tag or lockout procedures per OSHA regulations.

MAINTENANCE SCHEDULE

INSPECT INTERVALS

ITEM PROCEDURE Every
Daily | Monthly 3 Months

Operation Manually operate the door. Check for smooth operation and proper balance.

If this door has an automatic opener, disconnect it before this inspection. °
Inspect all safety/warning/product labels, placards, decals, tags. Replace if
Labels o °
damaged or missing.
Drums, Couplers Check all set screws and shaft keys and securely tighten. °
Cables Check for signs of abnormal wear, fraying or damage. °
Bearings Check for signs of abnormal wear or damage. °

Check for signs of abnormal wear or damage and properly secure

Cable Attachments all fasteners.

Springs Check for signs of abnormal wear or damage. Lubricate . o

Check for signs of abnormal wear or damage and properly secure

Spring Anchors all fasteners. ¢
Shaft Check for signs of abnormal wear or damage. °
Track Check for proper track spacing and alignment. °
Track Check and properly secure all track anchors. .
Track Check for signs of abnormal wear or damage. .

Backhangs/ Sway Check for signs of abnormal wear or damage and properly secure N

Braces all fasteners.

Plungers Check for signs of abnormal wear or damage. Lubricate ¢. °
Hinges Check for signs of abnormal wear or damage. °

Fasteners Check and properly secure all fasteners. °
Panels Check for signs of abnormal wear or damage. .
Panels Clean with soap ONLY. Call TKO for approved cleaners 4. As Needed
Seals Check for signs of abnormal wear or damage. °

& Use 10W-30 Motor Qil (or food grade equivalent). Wipe an oiled rag over entire circumference of springs to lubricate.
¢ Use white lithium spray grease or food grade equivalent.
& Caution: Solvents may damage the panels and void manufacturers warranty.

Page 64 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JrMW



User’s Manual

) TKO,

TROUBLE SHOOTING

Before servicing the door, read and follow the Safety Practices on pages 4 and 5 and the Door Operation

section on page 62 of this manual.

TROUBLE SHOOTING GUIDE

TROUBLE

PROBABLE CAUSE

REMEDY

Door raises hard, closes easily

Insufficient counterbalance

Increase spring tension

Door closes hard, raises easily

Too much counterbalance

Decrease spring tension

Door jumps from floor

Too much counterbalance

Decrease spring tension

Door lifts unevenly, light shows on
one side of track

Door improperly leveled!/ sitting
crooked

Adjust drums to level door

Door is difficult to raise, will not stay
open

Broken spring or
Tracks are too tight

Replace Spring or
Adjust tracks to specifications

Door operates with too much
resistance

Broken spring or
Tracks are too tight or
Weatherseal creating friction

Replace Spring or
Adjust tracks to specifications or
Wipe residue off seals and lube with a light coat of
powdered graphite.
(DO NOT use oil or grease)

15-00017 R3 02/07 MW, TW, JrIMW

© 2007 4Front Engineered Solutions, Inc.

Page 65



iz@p’o.cﬂmon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PARTS LISTING
A WARNING

Fixed plungers are required on the Fourth and Higher panels when the counterbalance cable attachment
is NOT at the top of the door.

4 A

FRHEL PLATE—18" FART HO. S0—MEBEY
PRMEL PLATE—1D" PART WO, 20-Ke23

UN ITANDAR] MW FART . 3000
UM THERWAL. WHEIKTA' PART WD, HI—HEO]
IANN THERIFL MDY RAFT WO M -NEAE
TH THEMWAL WRIHW PART MO X—0S07

W &k TN PAAT MO 000730
A PART N0, M-
PART K, 20-KW1%

gt e

oo Purkel Munber o Trock Spodng Dimmahon reguieed For <orect repecemand pord

MWL JENW & TW OO0OR PARTS LSTING

' A4 A BOTTIN AUBBER EEAL PSAT MG T—EI01A
TN MTTOH FNRER PL PATT

INTERHEDIATE PRMEL SRSEVB T+
INTERWELARTE PRMEL SEEEVELY®
INTERVELRSTE FANCL AEWTITT
BLTTOW PAMEL AABEWHLY*
19
PALE

FERT W 3&—Doar2

\. /

Page 66 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW




DTKO

User’s Manual DOCK DOORS

PARTS LISTING
A WARNING

Fixed plungers are required on the Fourth and Higher panels when the counterbalance cable attachment
is NOT at the top of the door.

( A

& T

ECE BEA LRODF-24 3% FART W 20-00TA
SOF I LOOF-18 35+ PAFT WL 30-007T
BCE BEA LDOF-12 J% FAAT WL 20-00774
BDE BEAL LODP—34 J,% FART WL 2o—-DE7T7H
FFE SEAL LEDP-10 3% FART ML 20—y
BHDE HEAL LOOF-12 5 FRAT KL 200073
SDE Lo WY,
SR LR TS FRRT WL 50T
ul_me
| =]

Pl ™ NTEFREDKTE PEL SR

/

MOTE: VERFY PANMEL PIEMON, FAkEL WILTH A0 LOOR WODEL WHEW
(PDERING FEPLAGEWENT SiDE LADP SEAL OF T-SLOT SEAL RETAIMER,

lII,-‘TliF' PRHEL AFFEWALT

FCANTINUEE]

Wy, JEWWY & TW BOOR PARTS LISTHG

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 67



iz@p’o.cﬂmon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

PARTS LISTING

( MW JRMW & TW TRACK ASSEMBLY PARTS \
(STRNGHT VERTICAL TRACK SHUWN:}
MOTE: MANY TRACK CONFIGURATION EXIST WITHIN EACH DOOR MODEL UKWE. A SERISL WG aWD DOOR
MODEL 1S REQUIRED WHEW ORDERING TRACK COMPORENTS. CONSULT FACTORY FOR SPECIFIC TRACK
CONFIGURATION AWD PARTS [DEMTIFICATION FOR YOUR SPECIFIC COMPOMENT WEED.
P
: o
= N
N UW STRT TRACK
. PART NO.3 WILL WARY
W UNIVERSAL STEEL -
FoRT NG5S WILL YWARY =™
- TRANSITION
'k TRACK, UW, 12" TRH 5KQ STRT LH
. PART MO. PO—OOBET (SHOWHY
b " ;_” TRANSITICN
- TRACK, UW, 12" TRM SKO STRT RH
‘L K PSRT MO, 20 0ASAE
: - “a_:#
5/16—18 TRILDK FLNG WUT - UW LOWER TRACK
FART MO, 1CI—IJEI'1EE\ E 1 i EMTELLEHJ?R*FAHT NOLS
g
: o y
i ¥
™ [ SCR, FFH, 5/16—18 X 2-1/3 LG
- FART HO. 10— 00046
&+ '™
: o "
: o
]
|1
LEFT HAKND SIDE

\ (SHOWN) y.

Page 68 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

BLANK PAGE

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 69



@lﬁooon; TKO MiddleWeight, ThermalWeight, & Jr.MilddleWeight Dock Doors User’s Manual

BLANK PAGE

page 70 © 2007 4Front Engineered Solutions, Inc 15-00017 R3 02/07 MW, TW, JIMW



DTKO

User’s Manual DOCK DOORS

BLANK PAGE

15-00017 R3 02/07 MW, TW, JrMW © 2007 4Front Engineered Solutions, Inc. Page 71



1) TKO

DOCK DOORS

N56 W24701 Corporate Circle e Sussex, Wisconsin 53089. USA
Tel: 262-820-1217 o Fax: 262-820-1273 e Web: www.tkodoors.com

© 2007 4Front Engineered Solutions, Inc

15-00017 R3 02/07 MW, TW, JrMW



